TNPSC GROUP II/IIA PRELIMS

TEST- 3
Identify incorrect pair:
(A) NNP - GNP — Depreciation allowance
(B) GNP at Market Prices - GDP at Market Prices + Net Factor income from
Abroad
(C) NNP at factor cost - NNP at Market prices — Indirect tax + Subsidies
(D) None of these
SHEUMITEOT 3)60)600T6M I &5T600TE
(A) NNP - GNP - Gz lliwnmers sidley]
(B) si5ems allemevuiey GNP - FHeng aflemevuiev GDP + QeueflBm 1969 (HH S
Fem L&D BIST 6UIHLOTEOTLD
(C) sryemnfl GFeveilsu NNP - Fheng ellemeuuilev NNP - inemmupsseurfl + Lomeofluiid
(D) @eummlev ergia]dlevemev
Transfer payments includes
(A) Pensions (B) Unemployment allowance
(C) Subsidies (D) All the above
DTHNEF QFIESIG60 6860607 2_6TeTL 85 W GI1?
(A) @WeyH uwld (B) GoauemevuletTemLn &8 Meor 25650 &5Mem &
(C) mesflulrbigs et (D) GLM&600TL. 2|6060TS SILN

Which unemployment exists during the downturn phase of trade cycle in the economy?
(A) Seasonal unemployment (B) Frictional unemployment

(C) Cyclical unemployment (D) Technical unemployment

@@ QUITHeTTSTTD SHCHTEHER W LUGH Uiy @ 0ma @& GLIMS &G 6Tm
GeusmeuWil6oTemILD 6TSHI1?

(A) umeUsTeL CauemevuileTemLn (B) 2_LetruImgeveur Cauemevuileremin

(C) &1p6v CauemeuuileTemin (D) smifleomiL L CauemevulleTemnin

Who stated that “A Tax is a compulsory payment made by a person or a firm to government
without reference to any benefit the payer may derive from government”?

(A) Dalton (B) Adam Smith

(C) Anatol Murad (D) J.M. Keynes

“curfl eTelTUSI @G BUF VeV S @B Blmieueard AT LIGHS! 6THSE UMD BHETemLOU|LD
THTUTTMON S J&HHGS SLLITWLD QFNESHE55IQULSTGD" 6T6Tdh Gl umy?

(A) LmevLedr (B) oyL_1b ev1Al5

(C) sjeorGLIT6L LPTITL (D) J.M. Gedrerv

Which country introduced Performance budget?

(A) USA (B) Russia (C) Japan (D) China
QEFEWELTRMET 6Ul6] QF6es HL LSS AMWSILGSH W BITH 6TS?
(A) sjQwiflssm (B) paquurr (C) ggLiurmesr (D) Geormr
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Which of the following are the methods of redemption of public debt?

(A) Terminal annuity (B) Conversion of Loans

(C) Repudiation (D) All the above

GG 600TL_UMMIGT QLIMSISEL6M60TS H(HLOL QEFSSID (PN MEET 6TSI?
(A) UG WMTHF QFNIS SIS0 (B) s5L_6me0r LDTMHMISHEV

(C) &sL6tT LDMILILY (D) GLom&s600TL {6M60TSH SILD

Who wrote the book “The General theory of Employment, Interest and Money”?

(A) Startz (B) J.M.Keynes (C)A.J.Brown (D) J.R.Hicks
"GeuemeVeUMUILILY, aUL_Lg LDMMILD Lieoortd LIMmMIW QuUIMEIS G L LIMH" 6T60TM HTem6V
TS WU WImp?

(A) ervLmyeiv (B) J.M.G6tr610 (O A.J. uQperesr (D) J. R amgen

The reason for decrease in national income is not due to

(A) Growth of population (B) Growth of production

(C) Growth of expenditure (D) Group of consumption
675l BITL_(h 6UIBLOTEOTLD G 6MMEUSS M & MeoT & If1UIMTeoT &5TIF6uoTLD &|6V6V?
(A) DH&HETOS TN GILIIHESHLD (B) 2. musTL1 QLB & SO
(C) QFevell QUIHSHSHLD (D) ma&yelll QuU@H&HSELD

Productivity in Indian Agricultural is low because of

(A) inefficient farming techniques

(B) lack of cheap and easy availability of credit

(C) absence of irrigation over a large part of the sown area

(D) All of these

@BH W CalermeooTemlo U6 2 MLISSH HMET GHenMaUTs: @ @BLILISME STFeuorld
(A) @Dmemwimm 2 Lpe| HIL LIS 6T

(B) wedleurmeot LomMILD eTerflemLnWIMTeT &L_6T GILIM @) U6V TemLD

(C) aflemermlevmiserfley QLIBLOLITEVTET LGS serflev BILILMEFeT eugF&H uleremnin
(D) @emeu oem60TSH SID

Which among the following have the responsibility to maintain the currency and credit
system of the country?

(A) Parliament (B) NITT Aayog (C) RBI (D) Finance ministry

L9 60760 (T 611 60T6U M MIGIT [HITL_1Q 63T LIGOTLD, LDMMILD &L_63T 61 LPMHIGH S 6m6V GLOEVTETT6mLD @ & I |LD
1B MIGUEITLD 6T&I?

(A) urgmeswermid  (B) & o,Gwimg  (C) RBI (D) BI® ojemngssid

NABARD was established in the year
(A) 1980 (B) 1981 (C) 1982 (D) 1983
NABARD Gsmhmiell& s L oy,600T()
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(A) 1980 (B) 1981 (C) 1982 (D) 1983
Sarva Shiksha Abhiyan (SSA), one of the major important educational programme is connected with the
(A) Elementary Education (B) Higher Education
(©) Vocational Education (D) Adult Education
Fiel FHFm UNWMeT eTepild (WNSEHUWIWDTET &HeVallds Q&HTETeNSHWITETS 6185601 60T
QEMTLIYemLWSI?
(A) QOBMTLESS seval (B) 2_wimlemevd seval
(©) asmdimaevai (D) s GWITT seval
Who developed Classical Theory of Employment?
(A) David Richardo (B) J.S. Mill
(C) J.B.Say (D) All the above
Geuemev auMUILIL LUMMIW Q& meTeming Ga& ML LML el GLIBGSSH WeUF WmF?
(A) L flessmreLm (B) J.S. udlev
(C)J.B.cgF (D) GLoma600TL. 2607606 (HLD

“Ratio of money held by public in currency to that they hold in bank deposits” referred

about
(A) Currency Deposit Ratio (B) Reserve Deposit Ratio
(C) Cash Reserve Ratio (D) Statutory Liquidity Ratio

QUIMS! ID&E6T 608 U660 6065 S ([(HEEG LD Lietorld LMHMILD eUmIS emeullL]serfley 2 6Ter
Lieoor LD oS Wweummlet elH &5 S GMILILIS 6TH1?

(A) QUme:s emeauliL] &S0 (B) Qpmés @@LIL emeulll] & S0

(©) Qpmégs @@Ll &S s (D) sl LuFeu Hiemw eI

Which of the following is not the source of revenue of Corporation?

(A) Property tax

(B) Income from Exhibitions

(C) Octroi and Terminal Tax

(D) Theatre and Show Tax

G LD G 600TL_eUMMIET LOMH&STTLEUN 6T aUBeUTUl Sb&TT IS EH6T VTSI 6TSHI?
(A) s sl g mer eurf

(B) ssevoramL_AuNed (B & &6t _&GLD 61HLOTOTLD

(C) memipey aurfl ML Wemeorio eurf]

(D) ®empwipmhi@ mmilh &L elifl

Under whose chairmanship the Reserve Bank of India constituted a High-powered commiittee to study

the urban cooperative banks?
(A) C. Rangarajan (B) R. Gandhi (C) Raghuram Rajan (D) Yashwant Sinha

@BHW flEFel amis Wrmenlwl Senevennuiler S BEFLILM Sal (KiMe] 6UnIH & ene6rT

QLIMW (H 2 WFLL L& GWen6l SIS uS?

Page



17.

18.

19.

20.

21.

TNPSC GROUP II/IIA PRELIMS
TEST- 3

(A) C.pmissymeeor (B) R &mhs) (©) peomb gregest (D) weqelbs Fleorssm

The policy of non intervention of the Government in production activities is called

(A) Laissez-Faire Policy (B) Macro Economic Policy

(C) Monetary Policy (D) Government Policy

2 MUSH BLAIGEHMESHETL SIT& LUBIEG Q&TETaTTION G (HHEGID Q&MeTemnd 66l el mm)
MPHELILOHMS?

(A) semevUILTE: Q&TeTen S (B) GUflweL QUITHETMTSTY Q& TeTeN

(C) ueTallWey Q& TETEMN S (D) o7& Q&meTen s

Which of the following is not a function of RBI?

(A) Lender of last resort (B) Act as clearing house

(C) Managing government securities (D) Advancing loans to individual

LY edTeu [ eueoTeu mmiaT [fl& el eumiGulledr Lieoof|&HEHeT QUTIHHSTHS 6TS?

(A) 608G Blemev&:8L_edT [T @6 et (B) unlimmm efLms QEwevLIGSReTmE’

(C) ope LT LSHTHIGmET BliuH &G (D) SeofllILL L &L 6TEHem6T &([HS6V

Who are the gainers during Inflation?

(A) Fixed-income groups (B) Investors

(C) Creditor (D) Debtor

LIcooT6 888 &) 60T QUMD ) LILLIGOT6M L LIGUT&H6T UIMT?

(A) mlemevwiment eubeumul Lhfledleor (B) wps6SL_Lmerm a6t
(C) 55L6T aUpmBISCWITT (D) &sLeT QUMBMT

According to World Bank Report, Gross National Income Per Capita ranging between $906
and $11,115 is

(A) Under developed country

(B) Low income country

(C) Middle income country

(D) High income country

2 V5 QUBIRUNET 9 MGHemn&ELILIG $906 - $11,115 HuTals QUTSSHTL(H 2 MUSSH 2 6mL_ Ul
BTH HET 6TelUTMI 60L& H LGS OTMSI?

(A) auemy&FH Wen L WIMs BIT(H &6t

(B) @M aUHLOMEOTID Q& mevorL [HIT(H & 6T

(C) OS5 T UIBLOTEOTLD Q& T6voT L BIT(H & 6T

(D) 9195 au@bLomeoTD Q& mevorL HT(H & 6T

Which type of inflation does not make any dangerous to economy?

(A) Galloping inflation (B) Creeping inflation

(C) Running inflation (D) None of these

6TIHS QUM & LITET Licoorel&h a1 QUITIHETTSTISH MG 61HS LSS WD gL S S MSI?

Page



22,

23.

24.

25.

TNPSC GROUP II/IIA PRELIMS

TEST- 3
(A) smelh Letoreig a1 (B) seuwld Letoreigh &1
(C) @b LetoTaig 551D (D) @eummlev gaiLblevemev

The Industries engaged in entraction of iron ore are known as
(A) Construction Industries

(B) Manufacturing Industries

(C) Extraction Industries

(D) Genetic Industries

@@L BH S BTG58 606TL Nfl5085H &G0 QaTNMHEFTemev eTelaU MM
SABWILG& D S?

(A) sL_(weTs QS TLHleLE6T

(B) swurmflliyg Qs midlevser

(C) WN5C80H&GWD 2 HLSHS STl 86T

(D) wyyeny 2 PUSH S OB MLSlev&eT

Which of the following are the measure to Control Inflation?

(A) Increase in bank rate, Decrease in repo rate

(B) High cash reserve ratio, Sale of Government securities in open market

(C) Decrease in bank rate, Increase in repo rate

(D) Low cash reserve ratio, High margin requirements

G LD 5 600T LU M MIGT LIcooTe s &G 60585 &L BILILIMSSID (DEMHET 6T5H1?

(A) eI 6f556M8 2 WTHH6), 6T alMBI&H S HHME & 60 ME 60

(B) Qum&é:s @@Ll eSS 2 wifey, 3Js LUSHThIGamer Qealefladanangullsy allmmev
(C) aum® afzlb GHMMEH6, L6 QUMHISH PG HNS 2 WIS SIS 60

(D) Qs @mLiyeisd GemmliL, efleflibL] Q&5 manss CHemalemul 2 UITEH S5

37t GST council meeting was held at

(A) New Delhi (B) Goa (C) Bengaluru (D) Chennai
3798 GST &6edTHFI6L Fal LD HeO)LQLIMM G L LD

(A) ysl QLeved (B) Gssmeurr (C) QuUMBILEBIH (D) Q& 6vr6m)60T
RLEGP means

(A) Rural Labourers Employment Guarantee Programme

(B) Rural Landless Employment Guarantee Programme

(C) Rural Land Owners Employment Guarantee Programme

(D) Rural Landless Labourers Employment Guarantee Programme
RLEGP eteotrLIg)

(A) &ymn QaTPlevmeT I 6T GauemeualmulliL] 2 MH S S L LD
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(B) ®ymin mleunmGmmy Geuemevel MUILIL] 2 MISS HL_L LD
(C) &Agmin mlev 2_flemwmeTig6T GauemevalmulliL] 2 MGG L LD
(D) &g Blevnmm QSTLEleVTETI&H6T Gausmeveu Uil 2 MG S HL_L LD

Selling equity shares of public sector enterprises refers to

(A) Bull market (B) Exchange of shares

(C) Disinvestment (D) Open market operations

QSIS SIemm 1B MI6) 60T BI85 6 60T LIMIEG 8 6em6T SedtIWMBeHE& ellmLems &mILILgI
(A) &Ten6T IMBIGITIY (B) umi@aser LflinmmmLd

(C©) 565 _H semevliL] (D) &b SIBISTL [HL6L].8560)85 860

In calculating the country’s GNP at market prices which one of the following is not
included?

(A) subsidies

(B) wages and salaries before tax

(C) indirect taxes

(D) depreciation allowance

FHens allemeuser ALILImLUley BTG QLTSS CHHAW 2 MUSH W &HeoorsSH (b
QEFWIW LD QUMW S, BLpalelsTalMMI6L 6THS ReTMI CF I SI&H GG MeTeTLILI(H 6UH 6v6m60?
(A) wmesflwmbigerT

(B) aufl&@& WhemG U FLDLIETLD DMHMID 2ETHUILD

(C) e s aurflser

(D) GsuiLnmeor LI

Lack of demand for the product or shift in demand to other products causes which type of

unemployment?
(A) Technical unemployment (B) Structural unemployment
(C) Temporary unemployment (D) Educated unemployment

@) CQUITHEHSHSHTET GHemel &HMMB) jevevdl LM QUL serfler Cgemel 2H &5 560
6T6URUEM S CaUem6eVUIETEMLN G @ STI6U0TOMH M SI?

(A) esmlevmL LI CalemeuulleTemin (B) oyemwliLamy Geusmeuudleiremin

(©) 3m&Td e CausmevuileTemin (D) mGmm GeusmevuiledTemin

RBI was nationalised in the year

(A) 1January, 1949  (B) 1 July, 1949 (C) 1 August, 1949 (D) 1 January, 1950
RBI -GS WD WM& & LILIL L aUBL LD

(A) geareufl 1,1949  (B) g@emev 1, 1949 (C) @u&ev® 1, 1949 (D) georaurfl 1, 1950

In India, One Rupee notes are signed by
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TEST- 3
(A) President of India (B) Prime Minister
(C) Finance Minister (D) Secretary of the Ministry of Finance
@B WTeNl6L 6(H eHLIMUI LITTSHH 60 6086 WD &S (H\LI6UT
(A) @bhH W BerTHUS) (B) Yysw &S]
(C) P& sieWEFFT (D) B1®) S| EF555 3 60T Q& W6V

31. Which of the following is not a quantitative measure to control the credit?
(A) Bank Rate
(B) Moral Suasion
(C) Open market operation
(D) Variable Cash Reserve Ratio
&HL60T 9|6MaY & HL_HILILITL () (LNenMEBEH6T QUITIBIHSTHS! 6TS1?
(A) euma®) 6L
(B) @pmlwpenms gmevorLey
(C) Qeuefl&&Hen s HL6LL.5 60 8867
(D) nmoih GemmBSLLEF aUBIS QFTHEeS @LIL] el

32. Variable Cash Reserve Ratio as an objective of Monetary Policy was first suggested by
(A) Adam Smith (B) Alfred Marshall
(C) J.M. Keynes (D) Fisher
MO QTS @@LIL eN&SLD 6TeiTLIG Listoredliliev Q& meTemnssuiledr ep(h &(Hadl ereor
WS PB60l6v LFHSIOTSSH6UT?
(A) oyL1b e1Al5 (B) 96097 omyeqev
(C) J. M. Getrerv (D) Yeqi

33. The respective share of Central Government, State Government and Sponsoring
Commercial Bank in Regional Rural Bank (RRB’s) capital is
(A) 50%,35%,15% (B) 50%,15%,35% (C) 50%,20%,30% (D) 50%,30%,20%
QULLITT 268 6UMHIG & 61Tl 60T eLN6VSHETE ST 6V MO 3{J&, LDMHI6V T8 LDMHMILD 61600118
QMBS G erfledT LI
(A)50%,35%,15% (B)50%,15%,35% (©)50%,20%,30% (D)50%,30%,20%

34. Match the following:

(a) 1949 - 1. Nationalisation of 14 commercial banks

(b) 1969 - 2. Nationalisation of RBI

(c¢) 1980 - 3. Nationalisaiton of wholesale wheat trade

(d) 1973 - 4. Nationalisation of 6 Commercial bank

QUTHS S S.

(a) 1949 - 1. 14 aueooll& QUMRIH H6T GHF I LOWILDITE &6V

(b) 1969 - 2. RBI G&H WD WINTEH 856V

(c) 1980 - 3. CaFWWLMEGESLILULL QOMSS CHMSHIENN 61601810
(d) 1973 - 4.6 6U6t0l18 GUMBITG6T CHF WILDWILDTE &6V
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@ () (©
A) 2 4 1
(B) 2 1 4
© 3 1 4
(D) 1 2 3

(d)

AN W W

TEST- 3

Which of the following is not a role of Commercial Banks?

(A) Creation of Credit

(C) Regulation of Consumer Credit

(B) Channelizing the Funds
(D) Banks Monetize Debt

LY edTeu [ eusoTeu mMl6v 6T& 6U600f18 UG Serfledt Lisool] 3j6ueu?

(A) &L60T 2_(HeUT&&LIN

Agricultural Refinance Development Corporation was established on

(B) pl@eow tpemmUL(hS SIS 6
(C) maFGauy &L 606 62(LMHIG LM SSIFH6V (D) &L 60T8H6emEITLI LI6T0TLOMS LOITM.MIGH60

(A) January 1,1963  (B) March 1,1963  (C) April 1, 1963

(A) gevt6uIf] 1, 1963 (B) & 1, 1963 (C) gLigev 1, 1963

Which of the following are source of revenue of Village Panchayat?

(A) Profession Tax
(C) Taxes on Land

(B) General Property Tax

(D) All the above

G LD & 600T LU MMIGT SAFMLD 26T T & & 6rfl60T QUIHEUTU 6T6m6U?

(A) Qzmiglev eurf]
(C) Bleuid s meor auif]

What is India’s rank in UN’s Human Development Index (2018)?

(B) Quna Q&ns sl aurf]
(D) GLoM&600TL. 3|6M60TSH HILN

(D) July 1, 1963
alleugmuwl IoMIGL 6T GWLITL (h &SI 6TLICLMG 2 (HeUM&aLILL L SI?
(D) egz®emev 1, 1963

(A) 129 (B) 130 (C) 131
D&HEH W BMTH SHET D6flS auemTFR & GMIUTL 1960 (2018) @ HEH W e6T HTHlem6v 6T6oT6oT?
(A) 129 (B) 130 (C) 131
Match the following
(a) Brown Revolution - 1. Shrimp
(b) Pink Revolution - 2. Oilseeds
(¢) Golden Revolution - 3. Leather
(d) Yellow Revolution - 4. Fruits
QUM S &
(2 uwuy ygle - 1. @MTev

(b) @ererFeuliy UL &
(©) sBsl UTLS

2. 6T600T Q) 600T LI 6 & &1 & &5 61T
3. @& Imev
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(d) wEhFeT UTLe - 4. LULPTBIG6IT

@ m © @@

(A)
(B)
©
(D)

A =W W
=W e
N N BS~N
W N B

A developing economy has which of the following features.

1. Low per capita income, chronic unemployment, occupational pattern

2, Population pressure

3. High percapita income and high GDP level

(A)1and 2 (B)2and 3 (CO1and3 (D) None of these

(b QUETIHS QUHLD QUITIHETTSTTLD L6tTeU(HLD 6T[HG & 600TH6V60TSH6MET G\LIMMIGTETSI?

1. MBS HVT TG QUBLOTETLD, BHITETLIL L Calemeuuilerenin LnMmMID QFTLSlev CLIME G
2. IDSHHETOHTMS (PSS

3. B HEVIT QUBLOMEOTLD LoMMILD & GDP 2_mLSH)

(A) 1 ompmiid 2 (B) 2 npmiin 3 ©) 1 wmomin 3 (D) @eaumnilev gaiLdlevemey

Which is a combination of stagnant economic growth, unemployment and high inflation?
(A) Inflation (B) Disinflation (C) Deflation (D) Stagflation
QUMmBeTTHTT aleTFFRUWL CHHEH Blemey, CalemevalmulliLleTemd, & s erellevmeor
LieooTel g 8510 9L G) U eLO6OTMILD 6260TMl6m 60T H S @ LDIBl6mI6V 615517

(A) ueTefg 8510 (B) wSeiTieoor @880 (C) ListoreumL_L LD (D) G555 afga10
Choose the incorrect pair

(A) Harrod-Domar - Third Five Year Plan

(B) Disguised Unemployment - Marginal productivity is zero

(C©) J.M. Keynes - Father of Modern Macro Economics

(D) First Planning Commission Chairman -  Jawaharlal Nehru
SHEUMITET @)60600Ten Ul CHTHGSH(H

(A) ammyL Lmory - epETMTeS BHHTevoT(hS HIL L LD

(B) nemmp s Geusmevudleiremin - @MISBleme 2 MHUSHEH M L,e3lwild
(C) JM. Getreiv - pefer GUlLE QUTIHETTS TS T 60T HHen s
(D) w56 HLLEGGWT emeval] -  Kealamieme ChH(H

Which of the following tax is not a Union Revenue Sources?
(A) Corporate Tax
(B) Capitation Tax
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(C) Excise Duty on Tobacco

(D) Foreign Loans

L9 6dT6U (H6U 60TeU M MIET 60O 2 TF 60T eUIHEUITUL ELNGVMBISEB6T QUIMTIBHS TS S 6TSI?
(A) UG eurfl (Q&TLEI6L B MI6) 60T 615 61T)

(B) s6v aurf]

(C) yemswWilemev QUMBL.G6T LSS TeT Hevmev eulf]

(D) oyweumBML(h & &L 6T&H6T

Identify the incorrect statement:

1. Article 280 states about Finance Commission

2. 14 Finance Commission setup in 2013 and its period is 15t April 2015 to 315t March 2020.

(A) 1 only (B) 2 only (C) Both1and 2 (D) None of these

SUDTRTOSHS CHTHES M.

1. &l 280 BIH&HGW UMM GOILILIGSDSI.

2. 146u8l BIH &G 201360 S eMDGHEHLILLL G LDMHMID 3I&H60T &HTeVLD gL1T6L 1, 2015 — LOMTEF
31, 2020.

(A) 1 (b (B) 2 n_@bd ©) 1 wmmin 2 (D) @eaumnilév gaiLdlevemev

Who defined that “An economy is a cooperation of producers and workers to make goods
and services that satisfy the wants of the consumers”?

(A) Alfred Marshall (B) Adam Smith (C) J.R.Hicks (D) J.M. Keynes
"BISTCeuTleT eBLILIMSM6T LL,THFH QFUI6USMSHTET GLITIHL.&6T LDMMILD C&F 606U 5606
SWMl&@GL0D 2 MUSHWTETT WMMILD LI6ooT W T I8 6H 85 emL Gl 2_6T6 Jal_ (HmGeu
QUITIBETTSTY D 6MLDOLIL]" 6T M S MIULIGUT WITF?

(A) @607 mgeqey (B) gy b euidlg  (C) J. R anflgenv (D) J.M.G 6610

Which of the following countries is/are socialist economies?
(A) Russia (B) Vietnam (C) Poland (D) All the above
LI edTeu (HeueoTeUMMIET FLOGSI6U QUITIHETTSTT HeMLLIL] Q& MevoTL BTH 6T 6TSI?

(A) peiquurr (B) el B (C) Gumevb & (D) @emeu oiem60TS SN
Price level rises moderately and the Annual Inflation Rate 3%-9% referred as

(A) Walking inflation (B) Running inflation

(C) Moderate inflation (D) Galloping inflation

Leoorel& a0 OIS ITeT CaussH D o,600T(H &G 3% - 9% 6TeoTm efG ST @BHEHT Sl
67616160 & WLIT6OT L160oTe 8 85107?

(A) PL&GWD Lenrafs s (B) (b LietoTelg 851D

(C) WsLomeor Lictored LD (D) sme|lb Listoreigh oL

Choose the correct statement:
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1. Economic development concerns on quantitative aspects
2. Economic growth concerns on quantitative as well as qualitative aspects
(A) 1 only (B) 2 only (C)Both1and 2 (D) None of these
sflunearenss CHIHOS0.
1. QUITIBETTSTY (LNeTGETMMLD 6T600T6001&6m & 1 LiLienL_ulevmersi
2. QUTIHETTHITT U6TIEFSF 6TevoTevol186m8 LDMHMID ST 319 LILemLulevmers
(A) 1 (D (B) 2 @b (©) 1 wmouid 2 (D) ers10L81606mI6V

M1 refers to

(A) Savings deposits, Demand deposits, Currency

(B) Currency, Coins and Demand deposits

(C) Cooperative bank, Demand deposits, Currency

(D) Savings deposits with post office, Time deposits of commercial bank

M1 aTeTLI S 6Ten &8 & MIEH M S1?

(A) GaLALIL emauLiL|&6T, &L L] 606Ul &6, &HITSH G LieoTLD

(B) &sm&gLI1 LIGwTLD, [HIT600T WIMIS6T L0MmmMID G&L L] 606l 86T

(©) sl (hmey eumIs), GaL L] 6m6ULIL]|&H6T, STH LI LI6woTLD

(D) oi16hFevs53 60T CFLALIL] 606U 1L 56T, 61600f185 61MIG U eVI6TeT &5Mev 6m6uLIL]

Who among the following is Vice-Chairman of NITI Aayog?

(A) Amitabh Kant (B) Bibek Debroy  (C) Rajiv Kumar (D) Narendra Modi
LD 5 600TL_6UTSH @6 [51H 21, CUITHSH 60T H160)600TS HeM6EVA WITF?

A) 9llsri srrgs  (B) WGus Galigmul (C) prgey @wry (D) BErHH T Gomig

Gross State Domestic Product (2016-17) of Tamil Nadu is

(A) $ 171 Billion (B) $ 81 Billion (C) $ 207.8 Billion (D) $ 213.8 Billion
(2016-17)-60 SLALLBTL 19657 QDTS S LOMHIL 2 6THITL(H 2 MUSH)

(A) $ 171 NeveSlwieor  (B) $ 81 LNsvedlwerr (C) $ 207.8 Levedwietr (D) $ 213.8 LNsvedlwiesr

When was the new symbol of Indian rupee came into use?

(A) 15 August, 2010  (B) 26 January, 2010 (C) 15 July, 2010 (D) 30 June, 2010
@BH W eBUTUISEH&HSTeT LIS W Lioors@&GmIui®h eTIQUTRS! L (LDenMEE aUbSS5?
(A) @psevl 15,2010  (B) g3eoreurfl 26, 2010 (C) e8emev 15,2010 (D) eSedr 30, 2010

Identify the correct pair:

(A) Article 112 - Union budget
(B) Article 202 - State budget
(C) Article 116 - Vote on account
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(D) All the above

Frflumer @eneooTenld CHIHASMH),
(A) 5581 112 -

(B) g5 a1 202 -

(C) 1551 116 -

(D) Gom&s600TL {6M60TS SILD

WSS W BIS) blemey o Ml&enas
OBlev IS Blenev SM&e0 s
b5 &GS UTH0&HH LI

Which of the following is not a cause of Inflation?

(A) Dear money policy
(C) Increases in public expenditure

(B) Increase in money supply
(D) Repayment of Public Debt

L9 6dT6U (H 6 60TeU M MIET LI60T6N 858 & F) D & TE0T &ITT6001 18 @h6T QLIMTIBIHS TS S 61512

(A) SjHemLD LIcooTE G\ & TeTen s
(O) 2wiihg el QUTHF Q&F6e6)]

Consumption + Saving refers about
(A) Real income
(C) Per capita income

(B) wevor oyerflliL) 2 wijey
(D) QUMSI65Lem60T LT Q& 85 &5 60

(B) Personal income
(D) Disposable income

BIGTESF + CoFILIL] eTETLIS! 6T& 606018 & MI&H M SI?

(A) 2_600TemLOWIITEOT QU(IHLOITEOTLD
(C) eI au@mLOMeDTLD

(B) seofIbLUIT 6u(HLOITEOTLD
(D) Q&evadlL_&8x19.U 6U(HLOTEOTLD

RBI Act, based on which RBI came into force, was passed in the year

(C) 1934 (D) 1935

flejel aum& BOL(WNMESG 6T &HTIerinms Sennbs RBI FU L @umbmiiil L

(A) 1932 (B) 1933
24,6007 ()
(A) 1932 (B) 1933

Choose the incorrect pair (2011 census)

(A) Crude Birth Rate -
(B) Density of Population -
(C) Sex ratio -
(D) Literacy Ratio -

(C) 1934 (D) 1935

21.8
382
940
75.04

SHEUMITEOT @) 60600TeNWSH CH TS (2011 QIF 6T &F61V)

(A) BrbBogser Mol &g -
(B) n&:56T Q5Mens 9LT&HS5) -
(C) umedleor NE LD -
(D) s sMle & HiH -

21.8
382
940
75.04

When did 14 banks with deposits above 50 crores were Nationalized?

(A) 19 July, 1969

(B) 15 April, 1980

(C) 19 July, 1980 (D) 15 April, 1969

12
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50 G&MY&EE G ealllld QFTend Q&ML 14 eIBISH&EET erlICUms CHFIW
WSS LILLL G&I?
(A) gemev 19,1969  (B) guigev 15,1980 (C) Zemev 19,1980 (D) gLugey 15, 1969

What was the main reason behind the Plan Holiday?
(A) Indo-Pakistan war (B) Failure of Second Five Year plan
(C) Failure of Third Five Year plan (D) Both Aand C

G L NGeMEG (LNSETENLNE SITTE00TLD 6T60T60T?
(A) @BHWIT LUTH VG TeT GUITH

(B) @uesorLmeug gbsrearhs S &S 6 Gameve
(©) epetromeug BHsTETOS S LSS 60 CHmevel
(D) A nmmitb C @revor(h\Lb

Which of the following are the functions of commercial bank?

(A) Collecting cheques (B) Advancing loans

(C) Demand deposits (D) All the above

L9 60760 (T 61 60T6U D MU 61T 616001185 6 MIG USl60T LiI6ooT | &H6iT 615517

(A) &TGFTEM6VEHEMEIT LIG0TLOITE (&85 6V (B) &L60T&6T 6ULDMHI&H &6V
(O) GaLY emauliL &6t (D) GLom&s6v0TL. {6M60TS SILD

Who appoints Deputy Governors of Reserve Bank of India?

(A) RBI Governor (B) Monetary Policy Committee
(C) Central Government (D) RBI Board

& Ted eum G Ul 60T S160)600T B, EBIBIEEM6T BIWILAILILIGH WITF?

(A) RBI oy,@55T (B) Lisooredlwicy Q&MeTemss & (LD
(C) LEHW T& (D) RBI aurriflwlib

Which of the following is true regarding the concessions granted to RRB by RBI?
1. They are allowed to maintain Cash Reserve Ratio (CRR) at 3%

2. They are allowed to maintain Statutory Liquidity Ratio (SLR) at 25%

(A) 1 only (B) 2 only

(C) Both are correct (D) None of these

WSS W FlEFFel aUmbIS eIl LMY 26178 eUBIS & EHES G 6ULPMBIGLID &FavlendHoEHeT &iflulmears
6T6M6U?

1. 3% Qpméa @LiLlemner (CRR) en6lsH (H&H s SeInH &R M

2. 25% gLl Ly el Biemn @@LiLlenert (SLR) e06us5 (H& 8 2en&H &R M.
(A) 1 (b (B) 2 n_(pid

(C) @uesor b &ifl (D) @eaupnilév ergia]Ldlevemev
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What is the rank of Tamil Nadu in Health Index released by ‘Healthy states, Progressive
India Report’, (2018) of NITI Aayog?

A3 (B)6 ©7 (D) 8

BSH WCWMTEH-6T &&HTHTY WMblevd, WMHCUTHEE @QhHw Inflsans (2018)-60
SOPBTLIQ 60T &&HTHTT GSMIuT(h 6reoTeor?

A3 (B)6 ©7 (D) 8

Which of the following refers to the rate of death occurring per thousand new born babies?

(A) Mortality (B) Natality

(C) Infant Mortality Rate (D) Death rate

GG ememLalmmieT uilFd sl GLHans&HEEhHE QoL &G0  ereleumm
SMPESLILGRMSI?

(A) @muy (B) WLy efgid

(O) Grhamng @@L afgld (D) @mui efsid

Growth rate target of Twelfth Five Year Plan is

(A) 7.2% (B) 8.1% (C)7.9% (D) 8%
L6l QTevoT LITLD 265 Metor(h & HL_L & H) 60T eU6TTFF @605 & 6T60T60r?
(A) 7.2% (B) 8.1% (C)7.9% (D) 8%

The planning commission of India defined poverty on the basis of

(A) Income

(B) Employment

(C) Calorie intake of food

(D) Consumption

QBB B L &G JLLMLDEML 6T560T 1 LILIemL U6V 6l6m [T UIMIS S 6T6emgI?
(A) au@mLDmeoTLD

(B) GauemeveumuiLiL]

(C) 2_evorey LI QUIMH6IT eLp6ud QUMD &GV

(D) m&iey

Match the following (Industry clusters in Tamil Nadu)

(a) Ambur - 1. Steel

(b) Salem - 2. Leather

(¢) Karur - 3. Surgical cotton products
(d) Rajapalayam - 4. Coach-building
QUTHSSS (HLPE QFTLH Q&TES)

(a) SYOLLT - 1. &
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(b) Grevld - 2. GxMeL
(c) &emF - 3. UMBSH M6l FRFF QLITIHL 86T
(d) pryuUTeeTWD - 4. GUITE 60T L|6D)60T6Y
@ b ©© @ @
(A) 1 2 3 4
(B) 2 1 3 4
© 2 1 4 3
(D) 3 1 2 4

Which of the following five year plans objective was establishment of the self sufficient

economy and opportunities for productive employment?

(A) First (B) Third

(C) Fourth (D) Seventh

GL&eoTLIMMIET  6THS LhSToThE HLLSEHear CHMESHILD HeteflemmeyLll

QUTBEMTMSTISHMNS 2 (HUMTHGSH) WMMID &S LILLTINMT  CelemeualTulllenLI

QULDMIG SV b, &LD?

(A) zevmeaug (B) epetrmmeu s

(C) BrretTasmeu i (D) gpreus!

What is meant by Disinvestment?

(A) Selling of Government Securities of Public Sector Undertaking (PSUs) to other PSUs or
Private sectors or banks

(B) Selling of Government Securities of Public Sector Undertakings (PSUs) to Private Sector
only

(C) Selling of Government Securities of Public Sector Undertakings to banks only

(D) Selling of Government securities of Public sector Undertakings to PSUs only

W55 6116V8:856V 6TEOTLIGI 6TEOT6OT?

(A) QuTaIssienm BloelarbiGeflear LUmiGsamer LIm QUTS  HlMi66T s & EH s G0
Seofl WM Bl MI660T IS EH &GN 6V6VS aUMBIH &HEHEHEG lMLISI

(B) QuUMEISSIemm Bl M6 6T g erfleor LiMiG8emneT LM SeoflWIm Bl mi6 60T bl & @eh & WL (BD
LG

(©) QuUTEIsSSIeM BlMIaI6THIS6 6T LIMEGsemneT LM eumi& &ehssE& L (Kb elmHLg

(D) QUEISSIem BmIeIaTHEIG T LBIGHemeT LM QUITSHISSHIeNM [BlmI66oT iS5 EH 5
LW eHug

According to Tamil Nadu Agriculture Department Policy Note (2017-18), what is the
position of Tamil Nadu in sugarcane production at National level?

(A1 (B) 2 ©)3 (D) 4

SOPE ATF T CaleTmeoTenlng Fenm Q& mMeTens ellemd:s GmILiL (2017-2018)-6TLG
CHH W vemalley HHOL 2 MUSHUNE SLOILDBITL 19.65T Hl6m6v 6T60T60T?
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(A)1 (B) 2 ©3 (D) 4
The Socialist Pattern of Society was first articulated in the
(A) First Five Year Plan (B) Annual Plans
(©) Second Five Year Plan (D) Eighth Five Year Plan
QUMEI 2_Lemln Q& MeTend AMlaflsasliul L S LD
(A) W&6L BHSMET(H S L LD (B) eupLMH& T S LmiG6iT
(C) @uevoTL_Mmeu gl Kb mevor(h HL_L LD (D) et Lmeu g 8365 mevor(h) HIL_LLD

The policy RBI follows for control of inflation is

(A) increase in Repo rate and CRR

(B) decrease in Repo rate and increasein CRR

(C) decrease in Repo rate and CRR

(D) decrease in bank rate

LeoTelE 855585 SLGILULGSS flEFFel aumis LweTLGSSID &@ed
(A) QruGuT efsLd WMmmilh Lievor @@LIL eSS0 E) 55560

(B) Qpucum efslb@&emme 560 LnMmmILD Lieoor @ @hLIL] eSS 5 &l 5560
(©) QpuGur efsld WMmmih Lesor @LIL & &S &mMmEHSH6V

(D) & 6f5866mP GMMESS60

Which of the following is exempted from Goods and Service Tax?

(A) Medicines (B) Alcohol

(C) Food Products (D) All the above

LYereupeusoreummlev &J8@ LnmmMILD GFemal auifluledia allevsaerfgsasLiLL (heTers?
(A) LD®BHSIS6T (B) ay6vs:amimey

(C) 2_evoreyll QUMTHLG6T (D) GLoM&600TL. 2|6M60TSH SILD

The Pradhan Mantri Gram Sinchai Yojana is

(A) to increase agricultural productivity

(B) subsidy on LPG cylinders

(C) to develop villages on health and sanitation

(D) avail quality medicines at affordable prices

s met hSfleor GNI D G edTa MUl GUIITEIT6OTIT 6T60TLIG)
(A) Geuerrmesor 2 HLISH 4B &FSH560

(B) erfleumuj&ssmeot omestlwILD

(C) AIMmBISE6T &FSHMTSTT LWL G 6D

(D) emibs allemevuilev &ILDMeoT LD(HHSIS6T LI M6V

The Rajiv Gandhi Udyami Mitra Yojana was launched in
(A) 2006 (B) 2007 (C) 2008 (D) 2009
gredel &MHS 2 Wil STT CUIMTRETT QGSTLBISLILIL L 3,600T(H)
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(A) 2006 (B) 2007 (©) 2008 (D) 2009

Agricultural Produce Market Committee is a

(A) Non — statutory Body (B) Statutory Body

(C) Contitutional Body (D) None of these
Alausmw 2 MUSH AMBISGTILS &L L&D

(A) FLLUTaID6ITS S6mLnLL] (B) FLL,Teu oyeminLiL]
(C) oyrflwevenioliL] SiemLoLllL] (D) @eummlev gaiLdlevemey

Which of the following is considered to be the main role of commercial banks in economic

development?
(A) Capital formation (B) Finance to government
(C) Employment generation (D) All the above

G LD G 556007 L6 MMIGT QUITIHETTSTT aUeTTER &G 61600118 eUBISR &6T Ml (&S W
LUMBI&TS SMHSLLBG6US WITS?

(A) epeugerr Sy & (B) @in56® B werllg g6

(C) GauemeuaumUILIL|&6m6T 2 (HauTHGHEH6ev (D) GLoME60oTL. 3|6m6TSH SIlN

Choose the correct statement about Integrated Cold Chain

1. It was central sponsored schemes

2. It was implemented by Ministry of Food Processing Industries (MOFPI)

3. This scheme was started to reduce wastage of agricultural produce and minimize post-
harvest losses

(A)1and 2 (B) 2and 3 (C) 3 only (D) All the above

ROESHmHS Gl @enerorLiL Lmmlul FFlumeT smhenm CHFHE S0

1. @& wsHU PHWS BILLITGLD

2. @& oee UsUILUGSSID sTLHIMHEFTmGE6TlET Imndssssme  (MOFPI)
QFWLLI(ROSSLILI(BILD.

3. @& aleusmu ellemerll QUTIHL Gerfler ellFUImbIsGem6Ts GHmMMLUILIGMSHTEHE|WND DMHMILD

ML &GLI L9 edT T LD QLOLIL|&H60)6TE GOMLILUSMEHTHE|LD
QSTLMSLILILLSI.

(A) 1 HmILD 2 (B) 2 ommiib 3

(©) 3wl @b (D) GoM&600TL. 2|6Mm60TSH SILN

The last Deputy Chairman of Planning Commission of India was

(A) Manmohan Singh (B) K.C. Pant

(C) Gulzarilal Nanda (D) Montek Singh Ahluwalia
QB W B L &G W66 QM 51606001556 606 [

(A) eTGLOME 6T Tl (B)K.C. umbs

Page
17



TNPSC GROUP II/IIA PRELIMS
TEST- 3

(C) ®evarflevmev BHST (D) mett@L& GBI | svleumediwim

80. Which one of the following is correctly matched?

Name of the Programme Year of Launching
(A) Integrated Rural Development Programme - 1997
(B) Training Rural Youth for Self-Employment - 1979
(C) National Rural Employment Programme - 1983
(D) Jawahar Rozgar Yojana - 1988
BLp& s evorLeumleL 67 FiflWms QUITBHSIHMSI?

S L &3 60T QUIWIT L TDNGSIUL L 3),600T(H
(A) @HEIGem60THS 26TTSH UETIFHS S L LD - 1997
(B) ety @ emem@py SrulGauemeval mUlLiL] LuIm& S S LD - 1979
(C) CxRAW 2a1y5 CauemeveuMUILILIS G L LD - 1983
(D) geuamy Grme sy GulmeeorT - 1988

81. Which day is declared as World Poverty Day by U.N.?
(A) 15 October (B) 17 October (C) 16 October (D) 7October
"D 6U8 QUMIENLD HETIOMS" 83.16IT. FemLI 6T[HS HITeneT i Mledg SieTersi?
(A) &86LmuF 15 B)oseLmur 17 (CO) ysCLmuy 16 (D) ois6Lmuy 7

82. Which among the following is responsible for the collection and publication of monetary
and financial information?
(A) Finance Ministry
(B) Finance Commission
(C) Reserve Bank of India
(D) Auditor and Comptroller General of India
LIeooT LoMMILD B1H G HHeueL&HemeT CosfleE I mmild Qelsflul@GLD S ST Q& TeorL Sl
6T&1?
(A) PIE 9mnEFsID
(B) p1®s 6w
(O @S w fejeu eum
(D) @B W Hen6venin &6oofl& e WITeT MHMILD &Hem6V6nILD &600T8 8 TErT

83. Federal Finance deals with

(A) State Finances (B) Finance of Railways

(C) Centre-State Financial Relation (D) Local Bodies

g () BIS GOILLGHeus!

(A) Bl FIH (B) pulleuGeu p1H)

(C) wsHW TElev BISH 2 Mmeys6T (D) 2_aT6emmL_& oj6mLnLIL| 86T

84. Which of the following country is not a member in SAARC?

Page
18



TNPSC GROUP II/IIA PRELIMS

TEST- 3
(A) Myanmar (B) Bangladesh (C) Nepal (D) India
L9 6076 (TH 61 60TEU D MIGT SFITT&-60T 2 mMILIL] BIT(H & EHET HEVVTH S 6TSI?
(A) BwiresTor (B) umzserm@saq  (C) GmuUMmeTLD (D) @p&wiT

In which year one Rupee and Two Rupee notes are printed and issued in India?
@BHwmalley 6@ epUTW WLMHMID @Ueor@ epUTUl CHTL(M&ET 61HS  3L,6v0T(h
FFLLIUL(B Qeueflul Ul Lg?

(A) 1915 (B) 1878 (C) 1917 (D) 1935

Choose the correct statement

1. Tamil Nadu is ranked first in literacy rate among the southern states

2. The enrollment for higher education in Tamil Nadu is the highest in India

(A) 1only (B) 2 only

(C)1and2 (D) None of these

Flwmer gamenms CHI5H

1. soallwne] efs55H 60 Q56T IDMBleVEIGER6T SLILPBTH WS GH 6V 2 6T6mgl.
2. @BHW semalleh 2 WFHLaN&ESTEr CFT&HmME SHLNHESH 60 H&HINME 2_6TeTS).

(A) 1 DL @D (B) 2 mL_ @b

(C) 1 nmHotb 2 (D) @eummilev ergia]Lilevemev
Disposable Personal Income = Personal income -

(A) Direct Tax (B) Depreciation

(C) Indirect Tax (D) Corporate Tax

QFVILE 55&HS 56oflneof18 6UHLOMETD = &6of1n6of18 6UHLOITEOTLD -
(A) CBIWss auifl (B) G uiLnmeorLd

(C) wemmnss eurfl (D) mloyaieormigserfledr euifl

. Choose the correct statement

1. In developing countries, large work force will be engaged in primary sector
2. In well developed countries, majority of labour force engaged in secondary and tertiary

sectors
(A) 1 only (B) 2 only
(C)Both1and 2 (D) None of these

slunearanss CaIHES0!:

1. elem@pld  BIhHSefley  QuUEBETe QSTPHleMETI&G6T (WG 6Tenng Qs mdledey
FFH\LL_(\6ITET 60T [

2. BEOIG eUeTIHS BTHIG&6MeL @IevoTLTD WMMID epeTmTD Blemevd Q&mdledlev
Qs MNeVTeTy LIMIG SIH &I @G

(A) 1 (b (B) 2 nL_(p1b

(C) 1 wmmib 2 (D) @eummlev ergia|Lilevemev
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Which one of the following is not a private sector?
(A) TATA (B) Ashok Leyland
(C) SAIL (D) TVS Motors
L edTeu(neusoTeumMilev SeoflWmy Slenm BlMIAIETLD S{6VEVTH G 6TSI?
(A) Lmem (B) &1G5 M8 GevevenoTL_
(C) SAIL (D) 19edleterv oML LTIy

Choose the correct statement

(A) Cauvery is South India’s third largest river

(B) It’s length is 765km

(C) Mettur and Kallanai Dams are built across Kaveri river

(D) All the above

gflwunarenss C5IHES 0

(A) Qzer @S wmaller eneTmmeug QuUIflw oLm TG QLG
(B) @l 765818 HeTLD Q& TevorL &l

© smalflllear GM&ECH SWOLBTLIQET GUWLEBT 66T LOMMID  85606V60)600T
SLLLILL (heTensl

(D) GLOM&HE00TL. 60)60TSH SILD

What is the main reason for Migration in India?

(A) Education (B) Marriage (C) Business (D) Work

@QBSH Wmellev @)L DA LIWITE 6V &85 Te0T &5ITI[J600T MhIS56T 6T60T60T ?

(A) seval (B) ®@®Loevorid (©) @smdlev (D) Geusmev

National Harbour Board was set up in

(A) 1991 (B) 1950 (C) 2007 (D) 1995

GHFW SIemymU & aumfluld 6T IGLIMS! 2 (heUT&&LILIL L GI?

(A) 1991 (B) 1950 (C) 2007 (D) 1995

Which country was the first to start GST?

(A) Canada (B) France (C) Singapore (D) India

(WDSET (P&He6L FIHG LMHMID CaFeneal auflenl QGSTLBIS W BITH 6TSI?

(A) seoTLIT (B) Yymesreny (©) msLILF (D) @bswir

Which of the following is not a primary sector?

(A) Agriculture (B) Mines (C) Trade (D) Fishery

L edTeu(heusoTeuMNI6v (LN&HETEMLNG FHleMM VLTSS 6TSH1?

(A) efleusmwild (B) &rpmissID (C) suewnflssID (D) WSedreuemyLIL]

Choose the incorrect statement

1. In Tamil Nadu, one fifth of land is used for agriculture out of total geographical area
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2. One-fourth of the land is barren
(A) 1 only (B) 2 only (C)Both1and 2 (D) None of these
SaUMITET FnDemMS CHFTHOSHMH
1. SUP&ESFH T QMEsL Lelullwey urlifey, 8hHev e LiMkIE Blev LT

LW Uy QEWUWIUGRmS
2. BMTETHL @ UGS Blevd slens el iUl (G eTengl

(A) 1 (b (B) 2 nL_(p1d

(©) 1 wmmiib 2 (D) @eummlev era16] 6066V

“Slater village” is located in which district?

(A) Dindigul (B) Villupuram (C) Chengalpattu (D) Chennai
6B LT BJTLOLD' 6T60T {emP&SLILIGILD ST 6THS Ml L &HFH 6V 2 6Tengi?
(A) B evoT(h) &H860 (B) elloliyyid (©) asmseLL(H (D) QFetTemeot

Who is the head of GST council?

(A) Prime Minister (B) Finance Minister

(C) President (D) Revenue Minister
GST &6 eT& 60607 Semreuaul WITH?

(A) Jgswog (B) B1® om0 &&y

(C) mearmaHUS (D) au@peurmul Siemn&EEy

Identify incorrect statement

1. GST act was passed in Parliament on 29 March, 2017

2. This act came into effect on 15t July, 2017

(A) 1 only (B) 2 only (C) Both1and 2 (D) None of these

SHAUMITET FonMEIME> &IT6O0TH.

1. U5 HMb GFemal aulfl FLLID LIMFTEBLOETMSSH 6V 2017 IDTTE 2960
BlenmECaumMUILILL G).

2. @Q&FLLLD 2017, TOemM6L 1 (LPFH6V HEDL (LLEDMEHE 6UHSHSI.

(A) T L@ (B) 2 @b (©) 1 oot 2 (D) @eumnilev gaiLdlevemev

When was the scheme Pradhan Mantri Jeevan Jyothi Bima Yojana was started?

(A) July9, 2014 (B) June 6, 2014 (C)May 9, 2015 (D) August 2, 2015
g mer hH ] Seuert GG LInm CUIT6oTIT 6T6dTm HILL LD TLICLIMS SleumisLILIL L GI?
(A) &g96mev 9, 2014 (B) &g®¢0r 6, 2014 (C) @ 9, 2015 (D) @pm6vL 2, 2015

Choose the incorrect statement

1. According to 2011 census, 45 crore people were migrants out of 121 crore people in India
2. In Tamil Nadu, 3.13 crore peoples were migrants out of 7.2 crore in 2011

(A) 1 only (B) 2 only

(C) Both1and 2 (D) None of these

SAUDITET FaHenM& CHIHE S0
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102.

103.
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1.2011 LDGSHET QFH TN &6ooTEH61&HHLILN6TLN, @BH W mallev 121 @&l & &6rflev 45 G&HITIY
GUT @LIQUWITHS6UTE6T
2. SDBTLI96V 2011 @L6evor(h), 7.2 G&MIquUilev 3.13 G&HITIY DG S&H6T @)L LD QUIWITHS 6T
(A) 1 (b (B) 2 nL_(pb
(©) 1 mmiib 2 (D) @eummlev era16] 6066V

Statutory Liquidity Ratio refers to

(A) Amount that the commercial banks require to maintain in the form of cash or gold or
government securities before providing credit to the customers

(B) Amount that the Reserve Bank require to maintain in the form of cash or gold or
government securities

(C) Amount that commercial banks give to RBI in the form of cash

(D) Amount that RBI give to commercial Bank as Loans

FLLLT6 @@L 6fsLD eTeTLIGI

(A) 6UITIYG6M 8 WITET([HE S &L60T QIPBIGSNS (LpedT 61600115 QUMIS G 6T
QI M&H&HLINTS/SHBIGLINTE/TE LIGHTHIGETTH 606155 ([(Ho8 Geueuoriqul @ LILTELD.

(B) fl&fel aumIiS QIM&HSINTS/SBIGINNS/SIT8H LSHTHISGETTS e6lsdhH ([HeHeH Galevoriq il
@@HLILLNMEGLD.

(C) euennlls UG GET FlFTel aUmIR&HG QITESHINTEH QSTHSHGID Q15 TN 5.

(D) flFiel UG aUetoil& QUBIRSGHEHHEG HLETMS QHTH&HGLD OHTeNS.

In which Five-Year Plan, the growth model given by P.C. Mahalanobis was applied?

(A) Fifth Five Year Plan (B) Fourth Five Year Plan

(C) Eighth Five Year Plan (D) Second Five Year Plan

61h% WBSToor(H HLULEH, LG, wameuChrliley eflss aemiEfs Comlum@
LweTUBSSLILILLSI?

(A) ghgmeag RHSTeTH SILLLD (B) pretissmeu s & mesr® SILL LD
(C) et Lmeugl s3bgmevor(h HL_L LD (D) @uevorL_meugl &mb&meoor(h HIL_L LD
“Navaratna” status has been conferred to Neyveli Lignite Corporation in

(A) April 2011 (B) April 2013 (C) April 2012 (D) April 2010
‘BoUTSHETT SBSHEVS QBULIGEN LWL Blevsse SWESHDES ThHS beh
QULPMHBISLILIL L &I?

(A) grlayev 2011 (B) gLaev 2013 (C) gLigev 2012 (D) griagev 2010
In the system of currency notes, which system is followed in India?

(A) Proportional Reserve System (B) Minimum Reserve System

(C) Maximum Reserve System (D) Fixed Reserve System

Lieoor GBITL_ (N &6IT aULpMHI&H S0 60, @BEWmelev 6Th& (nemm LNerLmmUILGHmEI?
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(A) NBETEMT &TLIL (e (B) ®emmbBSLLE STLIL (LDemm
(©) 9B sULE STLL WM (D) mlemeuwiment STLIL| (LD6mM
105. When a person lives below the minimum subsistence level he is said to live in
(A) Absolute poverty (B) True poverty
(C) Relative poverty (D) Abstract poverty

AUMDAISMHEGS Ceuetmigll GMMHSLLF UFHSHEEHGEH BCLL @@Hel] QUMW aIMmIENLD
151606V 6T60T LIS

(A) (P(REDLDOWITET 61U MIEHILO (B) 2_evoremIln 6UmIEmLD

(C) UL (b sumiemin (D) &5 umienn

106. Choose the correct statement about 2011 census
1. Migrants in rural areas is greater than Urban areas
2. Female Migrants are less comparing to Male migrants

(A) 1 only (B) 2 only (C) Both1and 2 (D) None of these

GBLpGHHeTLaIMMIET 2011 WD&EHET QFHTMNH HeorssMLIL UMyl Fflwmear gamenm

CHIHOSMH

1. &Gl BHIey BEILULMBGmer oL SIFTuliymm&sefley  H&WTEHs

Smeoor ILBG SRS,

2. @LIQUWTE] oe00rdHemeT el GlLIuoT& 66V &emmelnsss &meoor L1LOQ& M

(A) 1 (b (B) 2 nL_(pb (©) 1 mmith 2 (D) @eumnilev gaiLdlevemev
107. The Twelfth Five Year Plan period is

(A) 2007-2012 (B) 2009-2014 (C) 2012-2017 (D) 2014-2019

LI6oTeof 1 Q\ [T6uoT L ITeU &l IS Mevor(h) HL_L &ITeuld

(A) 2007-2012 (B) 2009-2014 (C) 2012-2017 (D) 2014-2019

108. Jawahar Gram Samridhi Yojana is a programme to eliminate
(A) rural health issues (B) population
(C) child labour (D) poverty
saliamy ST FDFlEEH GUITRETIT 6TedTm HL_L LD 61560607 3&MHMISHMGI?
(A) Sgmwlym &&rsmy Nrsfeamearser  (B) ID&&H6T0H TN S
(C) eybeng Qg mibleumery (D sumiemin

109. Which one of the following statements is correct?
(A) Finance Commission is constituted by the President every four years
(B) Finance Commission has one Chairman and four other members
(C) K.C. Pant was the Chairman of 11t Finance Commission

Page
23



110.

111.

112,

113.

114.

TNPSC GROUP II/IIA PRELIMS
TEST- 3

(D) Finance Commission Report is submitted to the Planning Commission.
B 5600 GnmMleL FflumeTsl 6TgI1?
(A) BIQWTEE Hemevall B15) & @MU R6UGUTH HITETE 2b,600T(H &G BIWLE SR 6T,
(B) 15 &G W e2h Hemevel IDMMILD HITeTE& 2 MILILN 6T T&H6T G &MeuoTL_ & MG LD.
(O) 11-aug BB &G WellaT Heamevall C&.&). Libhg beUmF
(D) @& waler 9nlsams HL&GWalLLd FFliesslu@LD

The Per Capita Income in India in 1867-68 was first ascertained by

(A) M.G. Ranade (B) W. Hunter

(C) R.C. Dutt (D) Dadabhai Naoroji

@B W mallev 1867-686v SevflBLIT aUBLOMETLD LIMM (LNS6T (N&ed6L oy Tmulbgeur wmy?
(A) M.G. gmeorGL (B) W. emedrL_iy

(OR.C. 55 (D) srsmumil Qmem@rmes]

Population explosion is associated with

(A) high birth rate and low death rate

(B) high birth rate and high death rate

(C) low birth rate and high death rate

(D) low birth rate and low death rate

INEEHETOSH TN QUL LIL| 6T6OTLISI 6T EBIL 60T Q&ML JL|6mLUISI?
(A) @18& Kpliy &5 Hmibh Gamnmbe @MmLIL eN&SLD
(B) @185 Ul ell®sib nhmih 9i18ls @ouiy ell&sin

(C) eemwiHs KpUy el&sLh Haib 9156 @mUL eSS0
(D) ®mBs KLy ell&gh wHoilbd Geombs QmUL el g0

Which among the following goods is exempted from G.S.T.?

(A) Milk powder (B) Tea (C) Fertilizer (D) Newspapers
GlseorLaimmley ahs FrHEHNHG s 0 wmmin Croel  alflallns@
SeflaasluUL (HeTersi?

(A) umev LeLT (B) Gzulemev (C) 2_yid (D) Q&R &5 meTa 6T

Which of the following is a direct tax?

(A) Wealth Tax (B) Income Tax (C) Gift Tax (D) All the above
G L& 60T eUMMIET 6THhS auiflwimenrgl GBIl aufllnss smHSLILGSH MSI?

(A) s al aurfl (B) eugpLomeot eurfl

(C) smer eurfl (D) GLOM&600TL. 60)60TS &0

Choose the incorrect statement about NEFT
1. NEFT — National Electronic Fund Transfer
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2. Minimum amount of transfer is ‘2 lakhs
(A) 1 only (B) 2 only
(C)1and 2 (D) None of these

NEFT ummlw Seummet Samenms CHIHAS M)
1. NEFT - National Electronic Fund Transfer
2. GOMBHSLULF DILILWD QST 2 @6VL&FLD

(A) 1 LD (B) 2 nL_(h\LD

(C) 1 b 2 (D) @eummlev ergia|Lilevemev
Mahatma Gandhi National Rural Employment Guarantee Act was launched on
(A) 2 February, 2006 (B) 2 February, 2007

(C) 2 February, 2008 (D) 2 February, 2009
DSTHMTHTHSE CHFW 26178 Calemey 2 MIF) FL L LD TLICLMS Q& mevor(heuLliLL L &i?
(A) Ngeurfl 2, 2006 (B) Ngeurfl 2, 2007

(©) ageurfl 2, 2008 (D) Ngeurfl 2, 2009

Who founded the All India Village Industries Association in 1935?

(A) J.C. Kumarappa (B) B.R. Ambedkar

(C) Jawaharlal Nehru (D) V.K.R.V. Rao

1935-6L SMTHHHH W HIMD QML HPHEHMS CHTHMIN S ST WITF?
(A) J.C. gguum (B) B.R. 9lbGUS&I

(C) 26uameumeL GH(H (D) V.K.R.V. ey

In which of the following market structure, the price will be very high?

(A) Perfect competition (B) Monopoly

(C) Duopoly (D) Oligopoly

GG 5600 LML 6THS el WITeT I BISTI U6 ellemev & SH&IDME @ @HEHGLD?
(A) BlepmeyLs GUITL LY (B) whoflemwo

O @aows wooiflew (D) ®levGeurry rhaiflenin
Keynesian Theory of Interest is popularly known as

(A) Abstinence Theory (B) Liquidity Preference Theory
(C) Lonable Funds Theory (D) Agio Theory

GeoTF 6T QUL 198 CHTLLMTH 2emLpdH& LG 6USI

(A) sruliy salgly Gasmlum@ (B) Byemin ellpLiLigs G mLluim)
(©) sLaBIH S Camum@ (D) g&lGwim GamLum@

Identify incorrect pair

(A) Budget deficit -Total Expenditure — Total Revenue

(B) Primary deficit  -Total Revenue Expenditure - Total Revenue Receipts

(C) Fiscal deficit -Budget Deficit - Government Market Borrowing and Liabilities
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(D) None of these
SHAUMITET @) 6n6toTenUlsd CHTHASH0).
(A) auge] QFVSHL L LUHMTHEGMM - QTSSEFCF06] — QLTSS aU6)

(B) wrsetteminll LIMMITEEG6emM - QIMHS aUIHEIMUI QF 66| - QLTSS
GUIHGEUITUI 6UT6
() pI@ULDDOTEGS®D - e AFeS HILL LDDTEGND — 4 TE 6

IMIGHTIE &L 60TSHEHLD 6J6M60T G\LIMMILIL&EHLD
(D) @eumnilev era16)L6VEm6V

120. The first 20-Point Programme was announced by

121.

(A) Indira Gandhi (B) Morarji Desai

(C) Rajiv Gandhi (D) Narashimha Rao

(WPS6L 20 SihEF G L GHemerr omMlellgEHell wmi?

(A) @BSIT &MHS) (B) Qurprigdl Gaamil

(O @rngdeu &HS) (D) Br&IbLo Fmel

The amount from income which is left for future needs is called as

(A) Income (B) Expenditure (C) Saving (D) Consumption
AUGBLTETSEFH  dHTHEMVES CHMAUGEHTH RJIGSELLUBL  QFHTaMs  eTelalmml
SMPESLILGRMSI?

(A) eu(pLOMeDTLD (B) QFevey (©) GadlLiLy (D) misey

122. Who stated that “Public finance is an investigation into nature and principles of state

revenue and expenditure”?

(A) Alfred Marshall (B) Adam Smith

(C) Karl Marx (D) Keynes

"SITF) 60T eUHEUTUI LDMHMILD QF6V6| 5616 @) WIeVenLIL|LD GG T6Ten &HE6m6TWLD 2T MleuCs
QuUTE BISUNUWIEL” 6T6dTMI SnMIWLIGUT WITF?

(A) @607 IDmFegev (B) oyL_1b ev1Al5

(C) &smyev MEEN (D) Sedrenv

123. Which of the following is correctly matched?

(A) Debenture-Interest (B) Share-Sole trader

(C) Deposit Receipt-Dividend (D) None of these

L9 edTeu (peueoTeuMMIET SFIfILIME QLITHSE) UL 6TETene6l 6T6m6U?

(A) sL6aT USHTLD - aul 1 (B) Ui - seofl aueoflas
(C) emauliL LUSHTLD - UITLILILITGIG (D) @eummlev era16)]l6vem6V

124. Match the following:

(a) Land Reforms 1. National Social Assistance Programmes (NSAP)
(b) April 1999 2. Employment Assurance Scheme (EAS)
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(c) August 15, 1995 3. Jawahar Gram Samrithi Yojana (JGSY)
(d) October 2, 1993 4. The Abolition of the Zamindari System
QUMTHSSIS.
(a) mlev EFH HS S BIGH6T 1. GaFW Fens 2 g5l GHLLmigGeT (NSAP)
(b) eLimev 1999 2. Gauemevau il 2 mISSH L 1D (EAS)
(©) sp&mev@® 15, 1995 3. 26157 A Fiflse CwrerT S L (JGSY)
(d) o18GLmUr 2, 1993 4. QI86TEHTH (Wenm WIS UL LD

@ ® @ @

(A) 4 3 1 2
(B) 1 4 2 3
©) 3 2 4 1
(D) 2 1 3 4

“When a customer gives cash to the bank and the bank creates a book debt is called a
deposit” is known as

(A) Active deposit (B) Passive deposit

(C) Derived deposit (D) None of these

@(H QUMY HNSHWTETT H60TH QUTEHSL LIeors S emner almGHuwley Qe SIh GUMTS SieuTsl
QuUWIleL emeuGBSELILIBID LIMM 6TelaUTm Sienp&H&LILGHMSI?

(A) QwevLI(LD em6uLIL] (B) QawevILIT 6m6ULIL]

(©) QuUIU@BL emeuLL] (D) @eummlev ergia]dl6vemI6V

126. Which theory explains the relationship between Birth rate and Death rate?

(A) Malthusian Theory of Population

(B) The theory of Optimum Population

(C) The theory of Demographic Transition

(D) Rostow’s stages of Economic Growth

Woly ef555M&W0, @mLiL ef555 MG 2 6TeT 2 meneal allend @G GHITLLIMMH 6T51?
(A) DTLBF 6T INGHGEET QTS CSHTLLIMGH

(B) 2_5510 10&56T QHTen&HE GHTLLIMH

(C) D&5H6T QFHTeNS QUETTFFIS &1L CaHmLLMp)

(D) GrmenvGLmeledT QUIMTBETITSIT eU6T &S BtV 86T

127. Aninflation of less than 3 percent is

(A) walking inflation (B) creeping inflation  (C) running inflation (D) galloping inflation
LeoTel& oD 3 5567555 MG GmMelTs: @ BHS T, Sl

(A) BL&G LD LeoTalg &0 (B) eer@pld Lictore s &1

(C) @b LetTeT&H &1 (D) WsEF W Liecorais sh

128. Match the following:
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(a) National Population Policy - 1. 1991
(b) New Agricultural Policy - 2. 1950
(¢) The New Industrial Policy - 3. Feb 2000
(d) The Planning Commission - 4. July 2000
QUIMTHS S S.
(a) CaHFW DHHT QHTN&HS CQHTETME - 1. 1991
(b)) ysW MeusTws Q& TeTem S - 2. 1950
(©) ysW Tl Q& TeTm S - 3. dgeurfl 2000
d) 9L &w - 4. TO6V 2000
@ b ©© @ @
A) 1 4 2 3
(B) 3 1 2 4
© 4 3 1 2
(D) 3 4 1 2
129. The term “HRIDAY” relates to
(A) Urban development (B) Farmer development
(C) Educational development (D) Poverty alleviation
“HRIDAY” 6T6dTm Q&0 6Tem & & MISR M &1?
(A) B&y Guum® (B) elleugmull Guoum@
(C) meval GobLim() (D) eumienin spLAILIL]

130. Which of the following Index was not released by UNDP?
(A) Gender Inequality Index (B) Multidimensional Poverty Index
(C) Gender Parity Index (D) Human Development Index
Netreu@Ld 6158 GmIui® UNDP-wmev QeuerflullLiLi(h e evemev?
(A) umedleor g s1audeTenn GMIUTH (B) uevuflinmevor eumientn &miuTh
(C) umellerr g G118 GMIUTH (D) werflgeuer CLUTLH& GSMIui®H

131. The newname of IRCIis

(A) IDBI (B) IRBI (O ICICI (D) IDCI
IRCI ullest L& W QuIWIF
(A) IDBI (B) IRBI (O ICICI (D) IDCI
132. Prime Minister Employment Generation Programme (PMEGP) was implemented in India by merging
the schemes of
(A) PMRY and REGP (B) NREP and REGP
(C)IAY and IRDP (D) SFDA and MAFALDA

urmys Wyswiler GauemevaumiiliLg S L b (PMEGP) @b& wimellev $Lh& g ev0rL S L Mg 6T

@66t H S SMWSLILRSSLILIL L GI1?
(A) PMRY o mith REGP (B)NREP ooyt REGP
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(©) IAY iopmih IRDP (D) SFDA Lo mith MAFALDA
Match the following:
Location Assistance
(a) Bhilai - 1. Russia
(b) Durgapur - 2. UK
(c) Vijai Nagar - 3. Government of India
(d) Rourkela - 4. Germany
QUMTHSSHIS.
@LLDb 2 e
(a) Wevrwu - 1. Jequim
(b) siFsTLT - 2. @RBISHTHSII
(0) ellguwl & 3 3. @BHW e
(d) emgGmeuT - 4. QrFLeof]

@ ® @ @@
(A) 4 3 2 1
(B) 3 4 1 2
© 1 2 3 4
(D) 3 4 2 1
The Physical Quality of Life Index (PQLI) was developed by
(A) M.K. Gandhi (B) Morris D Morris
(C) Amartya Sen (D) Biswajeet
QUMDEMES &T&MIUT QL svoremevor (PQLI) 2 meums&lwieuy wimy?
(A) MK. &8 (B) Guomiflenu 19 Guormifleiv
(C) oiFsH WM Q& 6ot (D) WNeveurgdls

Thiruvallurvar economic ideas mainly dealt with

(A) Wealth (B) Poverty is the curse in the society
(C) Agriculture (D) All of them

G ([HeU6TEBeUfl60T QUITHETTSTTS H(HSSBISH6T GMILILIG

(A) QF6valld (B) aumiemin FUPS TGS H60T LIMEILD
(C) GeuarmevoremLn (D) GLom&600TL 260)60TS S0

Identify correct statement about Finance Commission

1. Itis a statutory body

2. It aims to reduce fiscal imbalance between centre and state
(A) 1only (B) 2 only

(C) Both1and 2 (D) None of these
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B15 &G W LM SFiflLmeT samenme &Meoorss.
1. @&l @ FLLLLI6U SJ6MOLILIMGLD.

2. WDSHUW, IDMHIVEIEHEHSHEG @) 6L GUWITeT B1S FLbleneuularennenulds GmmLLGCS

@\ H60T GIBITEH&LNMGLD.
(A) 1 (b
(C) 1 iommith 2

The final resting point of a tax is called

(A) impact of a tax
(C) shifting of a tax

(A) aurflulletr MG
(O) eufliyrL(hgev

Cheap Money Policy refers to

(A) Increases in the money supply

(C) Increasing bank rate

106016 LIEOOTE:G & TETen & 6T &8 G MI&H M &I?

(A) U6t LLp&sh S &5 560

(C) eu® efplb 2 WFHSHIHV

Choose the incorrect pair (in Tamil Nadu)

Irrigational area

(A) Wells -
(B) Canals -
(C) Lakes -
(D) None of these

SeUDITET @)en6uoTen CHTHOSM® (SLALDBTL 19.60)

LIM&F 60T LT LIL

(A) SevoTmISH6T -

(B) eUMUISTELE6IT -

(C) giflser -

(D) @eaumnilev eTgI6]bl6LEMEV

%

62%
24%
14%

%

62%
24%
14%

(B) 2 (b
(D) ComssevorL g aiLll6Lem6v

(B) incidence of a tax

(D) All of these

e aufluler @miH CaF@mUIL LD Geuaumm emp&HELULIGHRMSI?

(B) surflulledr mlemevLiLim(
(D) @emeu 3jemerrs SiD

(B) Decrease in the money supply
(D) Decrease in inflation

(B) w6 L& &L GHemMSH 6D
(D) uemTefg 5D &Mme

Taxes levied and collected by Union but assigned to States are cames under which article?

(A) Article 265

(B) Article 269

(C) Article 275 (D) Article 279

LSHW TFMTeL NF&ESELILLG), UEe&H&LILLG DMHIEVEISHEHEH G 651888 8 1q UL

&6 6Thg FTSS 6T LD UBH DSI?

30

Page



141.

142.

143.

146.

TNPSC GROUP II/IIA PRELIMS
TEST- 3

(A) #0531 265 (B) #0531 269 (C) 53l 275 (D) #0531 279

Price rises at a rate of 10%-20% per annum leads to which type of inflation?

(A) Walking inflation (B) Creeping inflation

(C) Running inflation (D) Galloping inflation

21,600T(H & & 10% - 20% eT6tT AR GSEH 6L allemeVaUTH T &GSV DG 6T6) 66D 85 WIT60T
LieooTe g 85107

(A) BL&G D Letoreis LD (B) seauwld Letorelgh &1

(C) @b LetoTeg 551D (D) smayLb LetTefS &L

Which body is responsible for the formulation of monetary policy and considered to be the
lender of the Last Resort?

(A) NITI Aayog (B) Finance ministry

(CO) RBI (D) Parliament

Liesoredl 6L Q&5 MeTem 8 @)W MM LDMHMILD &6t FBlemev &L 6T FGaUTeTTHE &(HSLILIHILD
SeMLOLIL] 6T&I?

(A) IS <,CWms (B) p1& siemngFssid

(CO) RBI (D) umpmEBLOETMLD

Indian education system consists of how many levels?

(A)3 (B) 4 (OF] (D)6

@B W G606 (LNEMM 6185 6M60T [Blen6V &M eTE Q& mevor(h 6TermEl?

(A)3 (B) 4 (OF] (D)6
. The first fertilizer factory setup in the public sector is located in the state of

(A) Andhra Pradesh (B) Bihar

(C) Punjab (D) Uttar Pradesh

(DS6L 2 TN 6THG LDMBleVESH6V QLIMSEIS HI6MMUITE BlmieLILIL L GI?

(A) aB& T NTCHEFD (B) Samriy

(C) uEpemL (D) 2 5917 UyCs&FId

. The original approach paper of the Fifth Five-Year Plan was prepared under

(A) C. Subramaniam (B) K.C. Neyogi

(O V.KR.V.Rao (D) D.P. Dhar

BhSMUS BHSTETH S B L LD eUemTUW NGV Blanevsimlsensenw WMl g el
(A) C. &1 gweoofluilh (B)KC.plewm&

(C) VKR.V.gmey (D)D.P.&my

Which of the following is not a method of redemption of public debt?
(A) Sinking fund (B) Increase in rate of interest
(C) Capital levy (D) Budgetary Surplus
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L9 6dTeU (H6U6oTEUMMIET QLIMGI&HEL6M60T H(HLOL QFNSSID (LNEMMEHEBHET V6VMTSH S 6TH1?
(4) eph &L BIF (B) ail1q 6fp6em5 2 WS S!IH60
(C) eapevzents; Greme (D) eugey QFevey G 2 Lirfl
Change in population occurs due to which of the following?
(A) Birth (B) Death
(C) Migration (D) All the above
INGSHETOSH NS BLOAIIHLD 6TemSL QUITMIS S DTG MSI?
(A) Wiy (B) @miiy
(O @LUQuUWrey (D) GoM&600TL. 3]6m60TS SHILD

Choose the correct statement

1. In 2008, NFC Money Transfer System was introduced in Britain

2. This system came to India in 2016

(A) 1 only (B) 2 only

(C) Both1and 2 (D) None of these

gflwumer gaHenms CHIHEO S0

1. NFC uewrls uifleuiggenet wemnm LN Leofleb 200860 oimlLp&HLD Q&FWIWLILIL L &)
2. @Lpenm 201660 QHH WTNMHGS UbHSHS!

(A) 1 DL @D (B) 2 mL_ @b

(©) 1 mmib 2 (D) @eummlev 6116 dl6vem6V

In which year Currency Press was established in Nasik?
BTHEH LT 956D o TLNGSLILILL QI@BLLD 6T5I?

(A) 1920 (B) 1878 (C) 1947 (D) 1925
Which is known as National Income?

(A) Gross National Product (B) Net National Product

(C) Gross Domestic Product (D) Net Domestic Product
GHF W eu(HLOMeoTLd eTeor MWL eugi?

(A) Qs BTLE 2 HUSS (B) Bl&r B 0 2 OLUSS)

(C©) Qg5 2 6THMTL(H 2 MUSS (D) pl&r 2 atBT(® 2 MUSS

Two-fifth of one-third of three-seventh of a number is 15 what is 40 percent of that
number?

6(H 6TE00TEO0T 60T BHH L @ Tevor(h) LIIG 6, enedTiilél ep(h LISV, Liley enesTml LG 15
6T60T 160 6 G eTevoTE0M 60T 40% WIMSI?

(A) 72 (B) 105 (C) 525 (D) 15

The difference between the cost price and sale price of an article is Rs.240. If the profit is

20% the selling price is
(A) Rs. 1,240 (B) Rs. 1,200 (C) Rs.1,640 (D) Rs. 1,440
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@@ Qummerfler, ellmm ellemev WMMID L &5 lemevsiEE @enLCul 2 6TeT allGHWTFLD
€15.240 DM MILD 6VITLILD 20%, 6TevfleL MM ellemey
(A) em. 1,240 (B) em. 1,200 (C) em.1,640 (D) em. 1,440

A’s salary is 40% of B’s salary which is 25% of C’s salary what percentage of C’s salary is A’s
salary?

A et oarHluilnmersl B-@er 2arGHuwisHev 40%&HEGW0D B-eor ear@uwinmeotgl, C -@eor
2T STV 25%HGD FIOOTH 2 6TeTg ereoflev, C-@ 6T 2emHUIGHFH60, A-@)60T 26T LD
eTeleUeTe| F&56i5L0?

(A) 30% (B) 20% (©) 10% (D) 5%

On selling a chair at 7% loss and a table at 17% gain, a man gains 296. If he sells the chair at
7% gain and table at 12% gain then he gains Rs.400. The actual price of the table is

(A) Rs.1,400 (B) Rs.2,400 (C) Rs.400 (D) Rs.800

BTMH&TNemWw 7% HaqLSEHMGSGWD. CGenel 17% @QeTUSH MG e ellmmme
S|6UET . 296 @ EVITLILNEMLBMITET. @emSECW BTMH&HTN 7% @evmTUSH MG Cnensy 12%
@QeMTUSH MG  HMTEL euedT QUMD @6VTUD  eH.400 6Tevfley  Cloemeguilesr
2 _6uoTemLOWIT60T 6l6m6V

(A) em.1,400 (B) em.2,400 (C) em.400 (D) em.800

To a sugar solution at 3 litres containing 40% sugar. Then one litre of water is newly added,
The percentage of sugar in the new solution is

A) 135 % (B) 30% (©) 15% (D) 33%

360l FUGHMT HOJFl 40% FUHHMT 2 616Gl @@ LT BT @&l eor
HVESLILIGSRMS. S W HnT&F6edle) 2 6T &FJ8860TUI60T 2|66 6T60T60T?

(A) 133 % (B) 30% (©) 15% (D) 33%

In hotel, 60% had vegetarian lunch while 30% had non-vegetarian lunch and 15% had both
types of lunch. If 96 people were present, how many did not eat either type of lunch?

(A) 72 (B) 26 (C) 24 (D) 27

@M CammL L6l 60%BLT m&Fal 2 eorenall]ld, 30% GUT JmFaGamgulbd, 15% CUIF
@ (HEUEME 2_6UITEMEUU|LD 2_600TeI T 6OTM 6T GILOMHSLID 96 CLITSET @ HHSHT, 6THS 6UeM S
9 _GOOTE06UL|LD 2_600T600T TS [HLITE6T 678 &H6060T GLIF?

(A) 72 (B) 26 (C) 24 (D) 27

Find the single discount equivalent to a series discount of 20%, 10% and 5%

(A) 32% (B) 21.6% (C) 31.6% (D) 32.6%

20%, 10% WLOHMIL 5% 6T60TM QSHTLI H6eTEBLIGEHES FLODMET @MeNM SHeTEHLILGMUISH
&HIT6E00T S

(A) 32% (B) 21.6% (C) 31.6% (D) 32.6%
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158. Raju bought a motorcycle for 236,000 and then bought some extra fittings to make it

159.

perfect and good looking. He sold the bike at a profit of 10% and he got a selling price of
%44000. How much did he spend for the extra fittings made for the motorcycle?

(A) 240,000 (B) 276,000 (C) 4,000 (D) 26,000

@umes 236,000 5@ @ CUTLLMTT N&F&HHemeT aUMBIG), 9H6T CHTHM QLIMeS6, HeTG
SlemoWwe]D GLosYILD HeTnenmUiley @ WBISGHa|D Flev @& LIMSMHGM6TL QUITIHHE 60TT.
L6t CWLTLLTT en&F&H&R emeT 2440008 10% @ evTLSH6L elMHER 6T 6T6vfleL @50
LIM&MI&6T QUMTHIS 6T6U6I6TE| QF6V6)] QEFUISTI?

(A) 240,000 (B) 276,000 (C) 4,000 (D) 26,000

A refrigerator is purchased for 214,355, including sales tax. If the actual cost price of the
refrigerator is 213,050. Find the sales tax

(A) 30% (B) 10% (C) 20% (D) 25%

allmuener eufluLelr @@ &eflignsear smelluller Qmss allemev 214,355 GerflF&Fmseor
&Hmelluller aflemev 213,050 erentlel ellMLIemen aulfl NS HHN&HE & TevoTH

(A) 30% (B) 10% (C) 20% (D) 25%

160. The population of a town was 1,60,000 three years ago. If it is increased by 3%, 2.5% and

5% respectively in the last three years, then the present population is

(A) 177596 (B) 217350 (C) 177461 (D) 177366

3 21,600T(N B EH &G (LNEITL] [5SH TS S 60T LD&&6T GG e s 1,60,000. &L B 3 3i,600T(H Serflev 3%,
2.5%, 5% 61601 (LDEOMCUW DEHGEHET QHTNSH A& EHHT, HFHCLTMSHW LDESH6T G5 Tend
6TEUREITRY?

(A) 177596 (B) 217350 (C) 177461 (D) 177366

161. A dealer sold three -fourth of his articles at a gain of 20% and the remaining at cost price.

162.

Find the gain percent earned by him in the whole transaction?
(A) 20% (B) 15% (C) 30% (D) 33 3%

@m olwurmuryl gertefllLflBhes QUTBLSEEL 3/4 UBIEG QUITIHL&EET 20%
@EVTLISH &I, LSS (LD6ITET QILITIHL_S6M6T 3| H60T 3L &oallemeuuilanin elMLIemeoT G1& UG Tev
QUMES ANWMTUTTSH L 6UT LS @6Vl F&HaIgLI0D

(A) 20% (B) 15% (C) 30% (D) 33 3%

If selling price of an article is 4/3 of its cost price, the profit in the transaction is
(A) 16 3% (B) 66 3% (C) 33 5% (D) 66%

@@ ummeflar elldUemer allemney 2&H60T L GHallemevuiley 4/3 LMIEG erefley, @& 6L
& 60L& (G LD 6VITLILD 6T60T60T?
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(A) 16 §% (B) 66 §% (C) 33 §% (D) 66%

The ratio between the sale price and the cost price of an article is 7:5. What is the ratio
between the profit and the cost price of that article?

(A) 2:7 (B) 5:2 (C)7:2 (D) 2:5

@@ Qummerfler allMmuUemeT allemeudH@&GD L5658 llemeaudi @G 2 6Tem &GN 7:5 6Teotlev
3HBLI QUITIHET 6T UTUSH MG, L SHHNM6VE G 2 676 GG LID 6T60T60T?

(A) 2:7 (B) 5:2 (C)7:2 (D) 2:5

A shopkeeper allows a discount of 10% to his customers and still gains 20%. Find the
marked price of an article which costs R450

(A) 2600 (B) %540 (C) %590 (D) %585

([ HOLEHMTTT H60T QUMLHMSHUTTTHEBHEGS 10% HETEHLILY SHHSID, 20% @e6vMTLLD
LB OTOTT. SLIQUTHeTleT 2 coremn aflemev 450 erevflev, LIQUMBefledr GM&HSH
allemevem W& &IT600TE

(A) 2600 (B) %540 (C) 590 (D) %585

A trader mixes three varieties of groundnuts costing Rs.50, Rs.20 and Rs.30 per kg in the
ratio 2:4:3 in terms of weight and sells the mixture at Rs.33 per kg what percentage of profit
does he make?

(A) 8% (B) 30% (C) 10% (D) 25%

@ elwrmurrfl em.50, €H.20, WLMHMID /.30 AN EM6ULLIETET  CLOEOTMI 66085 I 60T
Bl6VE& G L 6M6VSHEMET 2:4:3 6T60Tm eTemL IR SHEHH L HeVHS, AUHS Hevenealenl 1 GG

€. 3356 & ML QFUISTE HenL &@&Lh G 6evmL &FHaisLIN0?

(A) 8% (B) 30% (©) 10% (D) 25%

Neither Loss nor profit

(A) Cost price < Selling price (B) Cost price = Selling price

(C) Market price > Discount (D) Market price = Discount
@6eVITLIINLD @) 6Vem6y, L L (LNLD @)6vem6y 6T6ofl6v

(A) 9iLGsalemev < allmLiemeor ellemev (B) 9L s:alemev = allmLiemenr ellemev
(O) ®&M&s aflemey > HeTEHLIG (D) M6 5 eflemey = HeTEBLILG

167. A man bought 75 mangoes for 2300 and sold 50 mangoes for 2300. If he sold all the

mangoes at the same price, find his profit or loss.
(A) %450 (B) %350 (C)250 (D)X 150
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Q@Meuy 30085@ 75 LWOMIDLLPHIGET euMmb&;H eumniley 50 WOMDLLPHEIGe6T 3005
allHUeneT QFWISTT. S 6m6TSH S DMIDLLPMKIGSEHN aflMLIeneoTwmer L6 SjeuFs @e6VmLiLD
3|6V6VSI [BL_L LD &5T600TES?
(A) %450 (B) %350 (C)250 (D)X 150

Sara baked cakes for the school festival. The cost of one cake was Z55. She sold 25 cakes and
made a profit of 11 on each cake. Find the selling price of the cakes and profit.
(A)%1175,10% (B) %1650, 20% (C) R 1175, 20% (D)% 1375, 10%

@@ UeTteflwledr elllomalimasnes Fmym GHd QEFUWISTET. @ CH&ER T ILssallene 55
G, 6U6T RaIQaUTH CHEHmaW LD 11 @uTUSEHMEG MHHBMTET. 25 G&HEH&HM6T
M mHSTeL llHLiemert allemevenL]LD @6VITL &F& 6558605 U|LD 85Te0oTds?

(A) % 1175,10% (B) 21650, 20% (C)% 1175, 20% (D)% 1375, 10%

A man sells two wrist watches at 2594 each. On one he gains 10% and on the other he loses
10% find his gain or loss percent on the whole

(A) 12% (B) 6% (C) 1% (D) 10%

@IF NEHEHI|EHTIHRIGET RaIQUTaTemMWILD 35945 @@eu]y allmmry. @)e6ueumm
AHME6L eeTmle 10% @evTLNLD WMAMTETMIEL 10% BHLL (LD SeU[HEHEGSG JHLL LS.
QLMHHHF 6V 6UHSHESG JMLL L @6VITLLN evevs L L FH6T5LD & mTeuords

(A) 12% (B) 6% (C) 1% (D) 10%
What will be 60% of a number whose 300% is 120?

(A) 12 (B) 24 (C) 36 (D) 48
6 ([H 6T600T600116L 300% 2L60TSI 120 6T60T16V, 2616161 600T600T 60T 60% & TEUOTS
(A) 12 (B) 24 (C) 36 (D) 48

A dealer allows a discount of 10% and still gains 10%. What is the cost price of the book
which is marked at ¥2207?

(A) %110 (B) %198 (C) 2120 (D) %180

R UHHHH5H e allemeuuiley 10% H6TebLIg QFWISTaIND @ alwmurflé@ 10% eumuld
PSR OTMG. 3LILSHHHEH 6T GG allemev 220 61601160, 1 FH 6T L858 ellemey WIMGI?
(A) %110 (B) %198 (C) 2120 (D) 2180

Priya bought a suitcase for ¥2730. The GST for this item is 5%. What was the price of the
suitcase before GST was added?

(A) %2700 (B) 22600 (C) %2300 (D) %2500

N lwm 2273066 @@ GLC&He aummi&erTy. @ger Wal GST 5% oG, GST auflenwi&
GFI&GLD (LN6oTeoTT SJLIQLILIq Ul et ellemev eTedTeoT?

(A) %2700 (B) 22600 (C) %2300 (D) %2500

A television set was sold for 14,400, after giving successive discounts of 10% and 20%
respectively. What was the marked price?

Page
36



174.

175.

176.

177.

178.

179.

TNPSC GROUP II/IIA PRELIMS
TEST- 3

(A) 16000 (B) 222000 (C) 220000 (D) 18000
Q&MY SH6TEBLIG&G6T (WemmGEW 10%, 20% eTedTmeUTm @h Q&HTeMeVHSTLFIGLLIY
214,400 eM&LILLL & 6T6oflev 2567 GMISSH ellemey eTeoTeoT?

(A) 16000 (B) 222000 (C) 220000 (D) 18000
If x% of a is the same as y% of b, then find z% of b

(A) x—zy%ofa (B)%Ooofa

() % % of a (D) None of these

a-60T Xx%6T60TLIGI b-60T Y% M@ &FLoLD eTevflev b-6or 2% SHmevoras

(A)a -ebr = % (B) a-6ir = %

(C)a—s&r%% (D) @eummlev ersiayLA6vemev

If the price of petrol is increased by 30% by how much percent a car owner must reduce his
consumption in order to maintain the same budget?

QUL Grmedletr allemev 30% 2 WISSLILLLTOD, @@ &M o flenwmery Lenpul
QFVMUGCW H&HSH 06UES FHISHTeM6 6T6UAIATE) (&6mMMEa Gauevor(hLD?

(A) 21 % % (B) 20 % % (C)33% (D) 23 1—13 %
When did World Press Freedom Day observed?

(A) May 2 (B) May 3 (C) May 4 (D) May 5
2 W& LUSHfleamns &SHHT Heord Tl ICLMSI &6l LN19.&&LILGSH mSI1?

(A) G2 (B) G 3 (C)Gmn4 (D)@ 5

Which of the following Indian Navy Ship (INS) recently decomissioned?

(A) INS Varaha (B) INS Kirpan

(C) INS Ranjit (D) INS Sudarshini

eteu@d  6Ths GUTTESLILG @bHul  &lU UL Wledmbgs FSLUSH L
aNevER &R S meTeTLILL L GI?

(A) &3.6160T.6T6NV QUITSHIT (B) &3.61607.6T6N) GRIJLI6OT

(C) &.6160T.6T6NV TEHF S (D) ga.61601.6T6NV &5 T 6vf]

Where was Asian Boxing Championship 2019-held?

(A) Bangkok, Thailand (B) Manila, Philippines

(C) New Delhi, India (D) Jakarta, Indonesia

2019-M&meoT F W G5 SIFFevmenL FrbLlweradlll GUITL 19856 6TMHIG HeLQLMMSI?
(A) UMTRIBTS, HTUIETHSI (B) wevoflevrm, LN6S L1600 LI160TEND

(C) UaIBevell, @BS W (D) 2&MissT, @BESHTGer W

Match the following

Exercies Countries
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(a) Nomadic Elephant - 1. India — Srilanka
(b) SIMBEX - 2. India — Mongolia
(c) Mitra Shakti - 3. India - Singapore
QUITHSSIH
LullmH & BT &6
(a) GBMOML 198 676016 LI6voTL - 1. @BHWIT — @) 6VHkIen &
(b) FbQu&ev - 2. @BHWIT — RIGSH TS wIT
(c) W TT F&H - 3. @BHWIT - ABISLILLT
@ b ()
A) 2 1 3
(B) 1 2 3
© 2 3 1
(D) 3 2 1
Who is the Author of book “Celestial Bodies”?
(A) Marilyn Booth (B) Aravind Adiga
(C) Kushwant Singh (D) Jokha Alharthi
“Celestial Bodies” 6160t L6555 60T LGP flwiy wimy?
(A) Qurileder L& (B) oypeilibs 9.8
(C) ®agaups S (D) Gxrmam 9vamis)

Which of the following states are affected by cyclone “Fani”?

1. Odisha 2. Kerala 3. Maharastra
4. West Bengal 5. Tamil Nadu
(A) 2, 3 only (B) 1, 3 only (C) 1, 4 only (D) 1, 4, 5 only

L9 60760 (1 61 60T6U M MIGIT “LIMedtl” LIUIGVITeL LIMEH&H&LILIL L DMIHI6UHBIG6T 6Tem6?

1. RIQ&IT 2. G& e 3. IDGTTTEQLY [T

4. GLOMGAUMBIGLD 5. LOLDBTH

(A) 2,3 DL ()LD (B) 1,3 (LD (01,4 LLELW (D) 1, 4, 5 @D

Which of the following countries unveiled world’s first floating Nuclear power plant?

(A) Britain (B) France (C) Russia (D) USA

ereu@d wBrh&efley 61g 2 uder WHY WHGEGD Asoilldlear BlenevulSHens
360N G SHI6TETSI?

(A) @ESemHal (B) Yymesreny (C) gequumr (D) sj@uniflgssm

Recently IBSA Sherpas meeting held in Cochin. Sherpas are related to which of the
following ministry?
(A) Ministry of Finance (B) Ministry of Home Affairs
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(C) Ministry of External affairs (D) Ministry of Defence
FUSH Q&ETFHUIL IBSA QeqiuUmev Sal LD BeOLQUMME. QaqiLmen ererLsgl
LeTeu(BLD 6THS SI6MDFFHGHSIL 60T QST L|6DLLIGUTE6T?

(A) IS SjemFFsID (B) 2_a1s1600m SIeMDEFFGHLD

(C) QauefliymeyssEienm SenNEFSHLD (D) ursIsTLILSSIMM eMNEFLD
General Conference on Weights and Measures recently unanimously adopted the
resolution to redefine which of the following Basic units?

1. Kilogram 2. Kelvin 3. Mole 4. Ampere

(A) 1, 2 only (B) 1, 3 only

(C) 1, 2,3 0nly (D) All the above

FSLUSHE 6Tl &BeT MmN  SemeiB&eT QUM MBI  LleTeu(ld  ebhs
emefh &HemeT LSILILNSHNEHTES HILmerd BlenmGaummLUiLIL L &i?

1. DCMHFITLD 2. Q& 6vaNl 6T 3. GL0ImeL 4. oy lwiy
(A) 1,2 (D (B) 1,3 L (hb
(©O1,2,3wLELD (D) Gomas6voTL 3{6m60TSH SILD

CRISPR-Cas 9 is related to

(A) Crypto Currency (B) Block Chain Technology

(C) Darknet (D) Genome Editing Tool
CRISPR-Cas 9 eT&Hs0IL 60T Q&ML FL|6MLUISI?

(A) SILIGLIT [BIT6DOT LLIMISs 6T (B) Yerms QFullest Qg mullevmiL LilD
O LmysemL (D) Setrserfleh HHSSID QEUIUD &HHa
Subhashan Reddy related to which of the following field?

(A) Author (B) Jurist

(C) Sport Person (D) Environmentalist

FLIAQET QL1 LIeTeUBLD 6THS SIemMUIL 60T QSTLTL{emL_UI6UT?

(A) sreor&Aflwy (B) 655 g16mm

(©) allememrwim_(H\sIemm (D) &M1& @Lp6v LTIV

What is the theme of the World Earth Day (WED) — 2019?

(A) Protect our Species (B) Nature for Water
(C) Better Water, Better Jobs (D) Water and Energes
2 05 L6l HeoTSHF 60T (2019) 60IDUIGH S ([HS ! 6T60T60T?

(A) Protect our Species (B) Nature for Water
(C) Better Water, Better Jobs (D) Water and Energes

Which city organized World Trade Organisation (WTO) Ministerial meeting of Developing
Countries-2019?
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(A) New Delhi (B) Pune (C) Raipur (D) Bhopal
2019-2.608 QIfHEHE5 MWWSH T eUeT(lD BMTHHET T MDFFFHET FHHLIL 6THS

B&TSH L HeOL QLIMHMSI?
(A) ysIH LS (B) w,Geor (©) pmwi (D) Gurrmev

189. Who was elected as the New President of South Africa?

(A) Julius Malema (B) Thabo Mbeki

(C) Mmusi Maimane (D) Cyril Ramaphosa

Q& etra1flesmeller S W AHLTTES CHTHOSHH &S LILIL (H6TeTed WITF?
(A) 286lwierv QoS (B) sCGUT QU

(©) W& emLGeoT (D) 8iflev prGUMET

190. Which of the following airport won UN Environment Award for Entrepreneurial Vision?
(A) Cochin (B) Chennai
(C) New Delhi (D) Hyderabad
DERW BTH&6T FanLiuller &mHmF@Lpe Lflallsd Ambs QsmbleweanerCalmy ellmal
QeueTmieTer LletTauhLd @ HS U a0 meoT [BlemeulLD 6T&1?
(A) QarTER (B) Q& etrem 6ot
(C) ys! B6vell (D) emamsrmung

191. Who is awarded with Peter Mackler Award for Journalism-2019?

(A) Paolo Borrometi (B) Robert Fisk

(C) Kristina Amanpour (D) Bob Woodward

2019 LTL GnsevF ell(h&l QeuetTmIeTeT LISLGLIMM LIGH e W merTy Wimy?
(A) umrGeuT GUTCTMTALLE) (B) prupL LNevss

(C) ®njlerviq 6oTIm | LOMEOTLL T (D) umd e CeurmyL

192. Mahatma Gandhi’s “The Era of Peace” letter written to which of the following country?

(A) South Africa (B) Isreal

(C) America (D) Japan

&rhHH uler “The Era of Peace” er60Tm 19510 BLDSH600TL 6THS BITL I ME& TWRSLILIL L &I?
(A) apearoyNfleaesm (B) @6vGrev

(C) 91Qwil&am (D) galiumedr

193. Match the following

(a) KAZIND - 1. India-Kazakhstan
(b) Tiger Triumph - 2. India-USA
(¢) MALABAR - 3. India-USA-Japan
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QUMM S &
(a) KAZIND - 1. @ BB WIIT-5E38 6/ & 60T
(b) Tiger Triumph - 2. @bEHwim -USA
(¢c) MALABAR - 3. @bH W -USA- s3LiLimedT
@ M (©
(A) 2 1 3
(B) 1 3 2
© 1 2 3
(D) 3 2 1

194. Which of the following Tiger reserve’s Eco-Sensitive Zone (ESZ) has been reduced recently
and it has also registered the highest growth in tiger population in last 4 years?
(A) Mudumalai Tiger Reserve
(B) Bandipur Tiger Reserve
(C) Sathyamangalam Tiger Reserve
(D) Amrabad Tiger Reserve
HLIHS 4 ,600T(H&H660 TG |60 &6 eTetoTevnt 18608 aUeTTEFR MW LIS 6 Q& UISI6TeT, 6Th
L6l &6t SIS 5 S 607 LIMSISTLILY L6V LD60OT L_6VLDTE0TS FLISLSF 6V
GOMEEHLILL(he6Temgl?
(A) (W &IDEmeV LIeS&H6T SITLILISsLID
(B) uBEILIL,T Led&s6T SmLliuLsLD
(C) 5P WIDMIGSETLD L|60&6T STLILISLID
(D) oipmumsg LedseT smiiLsgsLw0

195. When did International Nurses Day observed?

(A) May 10 (B) May 11 (C) May 12 (D) May 13
FIalGsF QFallelwl Herd 6T ICLTE Sen N9 &&LUGRMmSI?
(A) G 10 (B) G 11 (C) Gn12 (D) @G 13

196. India’s overall rank is in Index of Cancer Preparedness (ICP)-2019?
(A) 19 (B) 20 O 15 (D) 13
LGB eNlLSILIL 60T 6y SWITTHBl606v&HETT FIalGSHE ST LIL1Quledlev @nbHwmeller i

aufleng eTedT60r?
(A) 19 (B) 20 (©) 15 (D) 13

197. Where did FIBA Women’s Asia Cup Basketball Tournament held in 2019?
(A) Indonesia (B) Philippines (C) Thailand (D) India
2019-60 FIBA oS Gsmleml QU6EISHET SnemL LILUBSTLL  GUTLIQOHET 6IMHIG
HENLQLIMMSI?
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(A) @bCsTGeTHIWIT (B) 969160y L160TEMD
(C) sriiepHE! (D) @B@wm

198. Which of the following parliaments has become the first in the world to declare climate

Emergency?
(A) United Kingdom (B) United States of America
(C) Japan (D) Germany

FELDEHSE0TLUMMIGT FHMIFGLL0 AaUFT Blenmevenwl AMeNGSH6TeT 2 0H 6T (WNSH6V
LM ITEBLO6TMLD 6TSI?

(A) @BISevmHaE (B) sj@uniflsssm

(C) sgLaumesr (D) @grneof]

199. Which of the following organization have suo motu to power?

1. High Court 2. Supreme Court

3. State/National Human Rights Commission 4. Central Bureau of Investigation
5. Lokpal

(A) 2, 3, 4 only (B) 1, 2, 3 only

(O)1,2,3,4o0nly (D) All the above

LN 606 (H 61 60TOUM MIGT SHITIDME (LNETTRUHSI QULNSGSH6T LIH6] QFululd HH ST QLM
SIOLDLIL|SH6IT 6Tem6U?

1. 2 wyB&H ermid 2. 2 FFBHI06TMLD

3. xR W/ommlev W6l 2 Iflemln & 6T QLemevorild 4. 0SS W LjevetTule] Lifley

5. GeLIT&LIMEY

(A) 2,3,4 LG (B)1, 2,3 (D

©O1,2,3,4 LB (D) GLoMm&600TL. 3|6M60TSH SILN

200. Which of the following co-operatiove bank’s ‘withdrawl operations’ are curbed by RBI?
(A) Tamil Nadu State Co-operative Bank
(B) Cosmos Co-Operative Bank
(C) Surat People Co-operative Bank
(D) Punjab and Maharashtra Co-operative Bank
LNedTeu(BLD 6T Fnl (hMe] eummGufleor ‘Lieorld 6T(h &G0 3jememeu’ RBI Genms Si6imeng?
(A) sALBETH WTElEV Gl (HiMe] aIBIR
(B) ssmenunmen sl (hme) aumkis)
(C) &5 W&ESHET Fal (Hme eUmkIG
(D) uEpsFTl IMHMILD WSTITEYLYTT Fal (HiMe)] eumkIG
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Test — 3
GENERAL STUDIES ANSWER KEY

1 2 3 4 5 6 7 8 9 10
D D C C A D B A D C
11 12 13 14 15 16 17 18 19 20
C A D A B B A D D C
21 22 23 24 25 26 27 28 29 30
B A B B B C D B A D
31 32 33 34 35 36 37 38 39 40
B C B B C D D B B A
41 42 43 44 45 46 47 48 49 50
D A B D C D A D B C
51 52 53 54 55 56 57 58 59 60
C C D A D C D A D D
61 62 63 64 65 66 67 68 69 70
C A A C D C C D A C
71 72 73 74 75 76 77 78 79 80
C A B A C B D B D B
81 82 83 84 85 86 87 88 89 90
B C C A C B A C C D
91 92 93 94 95 96 97 98 99 100
B B B C A B B D C D
101 102 103 104 105 106 107 108 109 110
A D A B A A C D B D
111 112 113 114 115 116 117 118 119 120
A D D B A A B B B A
121 122 123 124 125 126 127 128 129 130
C B A A B C B D A C
131 132 133 134 135 136 137 138 139 140
B A C B B B B A D B
141 142 143 144 145 146 147 148 149 150
C C D B A B D C D A
151 152 153 154 155 156 157 158 159 160
B D C B B C C C B D
161 162 163 164 165 166 167 168 169 170
B C D A C B D B C B
171 172 173 174 175 176 177 178 179 180
D B C C D B C A C D
181 182 183 184 185 186 187 188 189 190
C C C D D B A A D A
191 192 193 194 195 196 197 198 199 | 200
A B C C C A D A C D




